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In the two sets given below, Set-I provides the different levels of learning according to
Bloom's Taxonomy, while set-I11 gives their examples and concerns. Match the two sets and
select from the options to indicate your answer :

(a) Memory level
(b) Understanding level
(c) Analysing level
(d) Creating level
Options :

@ (@ (c)
(1) m) Q) (111)
(2) (1) (i1) (111)
(3) av) () Q)
(4) @) () ()

Options:

set-1
(Levels of Learning)

645350576399, 1
64535057700, 2
E4E35057701. 3
EAE35057 702, 4

Set-I1
(Examples)
(1) Identifying examples of a given concept
(11) Generating new 1deas

(1)  Recalling information

(iv)  Isolating information into parts

(d)
(iv)
(iv)
(i1)

Question Number : 1 Question Id : 64635014678 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64535057699,

1
EAE35057700. 2
E4E35057701. 3
BAE35057702. 4

Question Number : 2 Question Id : 64635014679 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Diagnostic Evaluation ascertains

(1) Students performance at the beginning of instructions
(2) Causes and remedies of persistent learning problems during instructions
(3) Degree of achievement of instructional objectives at the end

(4) Learning progress and failure after instructions

Options:

4835057703, 1
E4E35057704. 2
64535057705, 5
4535057706, 4

Question Number : 2 Question Id : 64635014679 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535057703, 1
64535057704, 2
64835057705 2
E4E35057706. 4

Question Number : 3 Question Id : 64635014680 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Among the following which one1s an example of instructional software?

(1) Audio podeast

(2) Printed material or book
(3) Radio talk

(4) Edusat

Options:

4535057707, 1
64535057708, 2
64535057709, =
4835057710, 4

Question Number : 3 Question Id : 64635014680 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535057707, 1
EdBZ5057708. 2
E4B25057709. 3



EAE35057710. 4

Question Number : 4 Question Id : 64635014681 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which teaching aids enhance the skills like reading, listening and pronunciation?

(1) Audio-lingual teaching aids (2) Scientific teaching aids
(3) (General knowledge teaching aids (4) Theoretical based teaching aids
Options:

EAE35057711.1
BAE35057712 2
64535057713, 3
64535057714, 4

Question Number : 4 Question Id : 64635014681 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350577111
64535057712 2
E4E35057713. 3
EAE35057714. 4

Question Number : 5 Question Id : 64635014682 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



From the list given below 1dentify the instructional events which form part of the structure
of a lesson plan. Select your answer from the options given below the list

List of instructional events :

(1) Gainming attention of students

(11) Prior knowledge of students

(i) Informing the learner of the objectives

(iv)  Stimulating recall of pre-requisite learming

(v) Checking the availability of reading material in the library.
(vi)  Eliciting the desired response

Options :

1 O @ () @)
() @ ) @) D)
3 @ ) (W (v1)
(4) @ @ @ @)

Options:

64535057715,
64535057716,
4835057717,
E4E35057718.

[ N

Question Number : 5 Question Id : 64635014682 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635057715, 1
E4E35057716. 2
64535057717, 5
64535057718, 4

Question Number : 6 Question Id : 64635014683 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Think-aloud procedure is

(1) a part of secondary source of data
(2) a techmque used to investigate learner strategies and performance
(3) a strategy of testing learners’ aptitude by providing primary sources

(4) a necessary method in scientific research

Options:

64535057719, 1
64535057720, 2
4835057721, 2
E4E35057722. 4

Question Number : 6 Question Id : 64635014683 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 Wrong Marks: 0
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Options:

64535057719, 1
4835057720 2
E4E35057721. 2
4535057722, 4

Question Number : 7 Question Id : 64635014684 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Participant cbservation is a part of

(1) Philosophical research
(2) Mentalist Theory of language
(3) Mathematical research
(4) Ethnographic research

Options:

64635057723, 1
64535057724, 2
64535057725 2
E4E35057726. 4

Question Number : 7 Question Id : 64635014684 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535057723, 1
4835057724 2
E4E35057725. 2
4535057726, 4

Question Number : 8 Question Id : 64635014685 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Plagiarism in research is

(1) Creative use of previous data

(2) Copying unscrupulously and making use of 1t

(3) Quoting someone and citing him/her

4) Referring to previous data and working over it with new objectives

Options:

64535057727, 1
4835057728 2
E4E35057729. 2
64535057720, 4

Question Number : 8 Question Id : 64635014685 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535057727, 1
64535057728, 2
64535057729, 2
E4E35057720. 4

Question Number : 9 Question Id : 64635014686 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A university teacher plans to study the effect of level of aspiration of students in terms of
their socio-economic background on their scholastic performance at the term end evaluation
conducted by an external testing agency. What is the dependent variable in this study?

(1) Level of aspiration of students (2) Socio-economic background of students
(3) Scholastic performance of students (4) Term end evaluation

Options:



EAE35057731. 1
64535057732 2
64535057733, 3
64535057734, 4

Question Number : 9 Question Id : 64635014686 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535057731, 1
EAE35057732. 2
EAE35057733. 3
EAE35057734. 4

Question Number : 10 Question Id : 64635014687 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Critical language testing in a research report 1s

(1) Testing language from an ethical point of view, revealing 1ts misuses
(2) Evaluating the stylistic characteristics of language

(3) Critiguing the ideology of the author

(4) Observing the gender role played by language

Options:

64635057735, 1
64535057736, 2
64535057737, 2
48350577328 4

Question Number : 10 Question Id : 64635014687 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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EAE35057735. 1
64535057736, 2
BAE35057737. 3
64535057738, 4

Sub-Section Number: 2
Sub-Section 1d: 646350696
Question Shuffling Allowed : Yes

Question Id : 64635014688 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension

Unquestionably a literary life 1s for the most part an unhappy life, because if you have
genius, you must suffer the penalty of genius; and if you have only talent, there are so many
cares and worries incidental to the circumstances of men of letters, as to make life
exceedingly miserable. Besides the pangs of composition, and the continuous disappointment
which a true artist feels at his inability to reveal himself, there is the ever-recurring
difficulty of gaining the public ear. Young writers are buoyed up by the hope and the belief
that they have only to throw that poem at the world's feet to get back in return the laurel-
crown; that they have only to push as a new light in literature. You can never convince a
voung author that the editors of magazines and the publishers of books are a practical body
of men, who are by no means frantically anxious about placing the best literature before the
pubie. Nay, that for the most part they are mere brokers, who conduct their business on the
hardest lines of a profit and loss account. But supposing your book fairly launches, its perils
are only beginning. You have to run the gauntlet of the critics. When vou are a little older,
yvou will find that criticiam 1z not much more serious than the bye-play of clowns in a circus,
when they beat around the ring, the victim with bladders stung at the end of long poles. A
time comes in the life of every author when he regards critics as comical rather than
formudable, and goes his way unheeding. But there are sensitive souls that yield under the
chastisement and, perhaps after suffering much silent torture, abandon the profession of the
pen forever.

Sub questions

Question Number : 11 Question Id : 64635014689 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Literary life 1s unhappy because

(1) One has to carry the load of being a genius while not being one
(2) The genius can still remain a genius and be amidst misery in the face of adversity
(3) Talent brings pseudo happiness

(4) There 1= a constant desire to outshine others

Options:



EAE35057739. 1
64535057740, 2
64535057741, 3
64535057742, 4

Question Number : 12 Question Id : 64635014690 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Young authors aspire to

(1) Equate themselves to the established authors
(2) Remain content in their work only
(3) Achieve glory by their merit yvet always in a hurry

(4) Become critics subsequently
Options:
64635057743, 1
64635057744, 2
£4B835057745. 3
64635057746, 4

Question Number : 13 Question Id : 64635014691 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The perception towards the publishers and critics in the above passage is

(1) That of a scathing attack
(2) That of sympathy
(3) That of generosity

(4) That of cynicism

Options:

4635057747, 1
64535057748, 2
64535057749 =
64535057750, 4

Question Number : 14 Question Id : 64635014692 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Experience and age of an author

(1) Makes the author stoic to criticism
(2) Makes the author angryv and lovely
(3) Turns the author to a buffoon

(4) Drives the author to cynicism

Options:

64635057751, 1
64535057752 2
64535057753 2
E4E35057754. 4

Question Number : 15 Question Id : 64635014693 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The effective way of tackling criticism 1s

(1) To defend onesel f through print media
(2) To be vocal about one's craft
(3) To become a critic of one's own art and start analysing i1ts merit

(4) To be gracefully glued to the artistic exercise

Options:

4535057755 1
64535057756, 2
64535057757, o
64535057758, 4

Question Id : 64635014688 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension
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Sub questions

Question Number : 11 Question Id : 64635014689 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535057739, 1
E4E35057740. 2
64535057741, 5
4535057742, 4

Question Number : 12 Question Id : 64635014690 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4835057743, 1
64535057744, 2
64535057745 o
64535057746, 4

Question Number : 13 Question Id : 64635014691 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
E4E35057747. 1

EAE35057748. 2
EAE35057749. 3
64535057750, 4

Question Number : 14 Question Id : 64635014692 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
45350577511

EAE35057752. 2
EAE35057753. 3
BAE35057754. 4

Question Number : 15 Question Id : 64635014693 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
4535057755 1

E4E35057756. 2
EAE35057757. 3
E4E35057758. 4

Sub-Section Number: 3
Sub-Section Id: 646350697
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635014694 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following are barriers to effective communication?
(a) Physical noise (b) Semantic noise
(c) Psychological noise (d) Non-semantic noise

Choosge the correct answer from the options given below

(1)  (a), (b) and (d)
2  (a), (b) and (¢)
@) (&), () and (d)
(4) (a) and (d) only

Options:

64535057759, 1
4835057 7E0. 2
E4E350577EL. 2
4535057762, 4

Question Number : 16 Question Id : 64635014694 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635057759, 1
64535057760, 2
64535057761, 2
4835057 7E2. 4

Question Number : 17 Question Id : 64635014695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Non-<content behaviours such as rate of speaking, loudness, tendency to interrupt and

pronunciation peculiarities’ are referred to as behaviour.
(1) Extra-personal (2) Animated

(3) Extra-linguistic (4) Involuntary
Options:

EAE35057763. 1
64535057764, 2
64535057765, 3
64535057766, 4

Question Number : 17 Question Id : 64635014695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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EAE35057763. 1
64535057764, 2
64535057765, 3
64535057766, 4

Question Number : 18 Question Id : 64635014696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a classroom, delayed feedback can happen due to

(1) Use of technology (2) Ezxpanded communication
(3) Semantic noise (4) Partiapatory environment
Options:

EAE350577EY. 1
EAE350577EE. 2
EAE3505776%9. 3
BAE35057770. 4

Question Number : 18 Question Id : 64635014696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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EAE3505776Y. 1
64535057768, 2
645350577649, 3
E4535057770. 4

Question Number : 19 Question Id : 64635014697 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In analog communication, contents are considered to be

(1) Convergent (2) Static
(3) Physical 4) Ethereal
Options:

B4E35057771.1
BAG3IS057 772 2
BAE35057773. 3
BAE350577 74, 4

Question Number : 19 Question Id : 64635014697 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HIGTT quN H fava-a%q # "ET S 2

(1)  afbard (2 &
(@) ifdw 4) Al
Options:

BAE35057771.1
BAE35057 772 2
64535057773, 3
64535057774, 4

Question Number : 20 Question Id : 64635014698 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following :

Set-l Set-11
(Communication elements) (Description of process part)
(a) BSender (1) Brain
(b) Receiver (i1) Electro-magnetic impulses
©) Message (m)  The central nervous system
(d) Medium (1v) Sensory organs

Choose the correct answer from the options given below

(& () (©) (d)

(1) @ () (11) av)
(2) ) @ av) QD
(3) av) @ (11) (111)
(4) @ Gv) @ @)
Options:
64535057775,
E4E3505777E.

EABZS057 777,
EAE35057 778,

o LIRS

Question Number : 20 Question Id : 64635014698 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



3¢ gufera Hifsm:

gz - 1 gz - 11
(|9 F ded) (ks |1 = faaTon)
(@) o (i) wfEdss
(b) “ARIEF (i) A== e
(c) ®@ew (i) FEE S qd
(d) HIE=H (iv) el
A=t fau 71w, fepen & & @@t 39 gHT

1) @-@, b)-0), -0, d - av)
@ (@), (b) - @), © - Gv), d) — i)
@  (@—av), (b -0) ©)-0),d - )
@ (&) - @), b)-av), - aw), d -

Options:

64535057775, 1
64535057776 2
E4E3E057777. 2
4535057773, 4

Question Number : 21 Question Id : 64635014699 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Choosge the missing term out of the given alternatives

TEF, UGH, , WKL
(1) CMN
2 UJ
3  VIJ
(4 IJT
Options:

BAE350577759. 1
64535057780, 2



EAE35057781. 3
BAE35057 782, 4

Question Number : 21 Question Id : 64635014699 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A fa o faen & faa sum 4 9fd fifsg
TEF, UGH, , WKL
(1) CMN
(2) Udl
(3) VIJ
(4) [JT
Options:

EAE350577739. 1
B4E35057780. 2
64535057781, 3
64535057782, 4

Question Number : 22 Question Id : 64635014700 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The sum of deviation taken from which of the descriptive statistical measure 15 always equal

to zero?

(1) Mean
(2) Median
(3) Mode

(4) Percentile
Options:
Ede35057 783 1
4535057754, 2
64635057785, 3
4635057756, 4

Question Number : 22 Question Id : 64635014700 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Frefefiaa 4 4 form avHTers Aifisrl 9F 4 fore o, Beem w1 90 929 R g 2

(1)  HeHH

(2)  HHETFAEA
(3)  SEETEAH
(4) Y| HH

Options:
E4E35057753. 1

EAE35057784. 2
E4E35057785. 3
BAE35057 786, 4

Question Number : 23 Question Id : 64635014701 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If x and ¥ are two positive numbers and x 1s 25% greater than », what 18 the value of the

ratio?

X

1) 075 (2) 0.80
(3) 1.20 4) 125

Options:

64535057787,
4835057 7EE.
E4E35057789.
4535057730,

o IR

Question Number : 23 Question Id : 64635014701 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

af 2 S y T G T & S xy & 25% w2 @ L = eI A
X

1) 075 (2) 0.80
@ 120 @ 1.25
Options:

EAE35057787. 1
64535057788, 2
64535057759, 3
64535057730, 4



Question Number : 24 Question Id : 64635014702 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

5% of the inhahitants of a village having died of malaria, a panic set in. During this, 20% of
the remaiming inhabitants left the village. The population is then reduced to 4750. Find the
number of original inhabitants

(1) 5000 (2) 5250
(3) 6250 (4) 7500
Options:

645350577391, 1
EAEZ5057 7392, 2
E4E350577393. 3
BAE35057794. 4

Question Number : 24 Question Id : 64635014702 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

feft i & 5% FrarfieEi £ nefen & 9oy 29 F Jre qu mE YA 8 T 30F 4RE Y anErReE § o
20% <RT TiE SlgF w93 9 e o ooy M ff A geE 4750 @ M) TiE % g
SAfeanfEEy i wEr 2

(1) 5000 (2) 5250
(3) 6250 (4) 7500
Options:

64535057731, 1
E4535057732. 2
EAE350577393. 3
EAE35057 7394, 4

Question Number : 25 Question Id : 64635014703 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
If the simple interest on a certain sum for 1 year 3 months at 8%—% per annum exceeds the

simple interest on the same sum for 8 months at 7% % per annum by Rs. 45, then the sum is

(1) Rs. 600 (2) Res. 800
(3) Rs. 6,000 (4) Hs. 8,000
Options:

E4E35057795. 1
EAE350577396. 2
BAE35057737. 3
64535057738, 4

Question Number : 25 Question Id : 64635014703 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gfe foreft =i 1 mam o 8% Ufdad iz g 1 af 3 AE H 36 & gaufl w 8 HER H T4
gfgay & saret 21 & 45% & Afas & snar 2, af g8 gauf 2

(1) 600 %. (2) 800s=.
(3)  6000&. (4) 8000 %.
Options:

64535057735, 1
EAE35057 736, 2
EAE350577397. 3
B4E35057738. 4

Question Number : 26 Question Id : 64635014704 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If proposition ‘All pens are not pencils' is taken to be True then which of the following
propositions can be False?

(1) All pens are pencils (2) Some pencils are pens
(3) No pen is pencil (4) Some pens are pencils
Options:

6453505773959, 1
64535057800, 2
E4E35057801. 3
EAE3505780Z. 4

Question Number : 26 Question Id : 64635014704 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

D | T e | o v R R e s e i R o 1 | | 0 1 R R e M o e B M e = £ o =t T
Hﬁ’l%’:

(1) ol 9= ufeaet 48 2| (2) %@ e U= 2|
@ Rl U AR A 2 @ T U7 i # )
Options:

B4E350577959. 1
64535057800, 2
64535057801, 3
E453505780Z2. 4

Question Number : 27 Question Id : 64635014705 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two premises with four conclusions drawn from them. Which of the
following conclusions could be validly drawn from the premises?

Premises :

(1) All fans are tubes

(i1) Bulbs are not tubes

Conclusions :

(a) Fans are not bulbs
(b) All tubes are fans
(c) Fans are bulbs

(d) No tube 15 bulb

Select the correct answer from the options given below :

(1) (a), (b), () (2) (a) and (d)
(3)  (a) only 4) (b), (c) and (d)
Options:

64535057803, 1
64535057804, 2
E4E35057805. 3
E4E35057806. 4

Question Number : 27 Question Id : 64635014705 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A & e ey fey o E oA = m el g foeg g 2 e san el & Rl 8 S5 @
e 9 =g & yw oo o1 T 27

A A 2 () ot U e 2 )
(i) resl el A 2

e 1 (@) U9 ded FF 2|
(b) =ff == 7E E)
(©) 9d #ed 2 |
(d) =% o 29 Fowt A 2
5 e o, farent 7 4w W R
1) (@, b)), © (2) (a) 3 (d)
(3) = (a) @ (), (©) #R (@)
Options:

64535057803, 1
64535057804, 2
64535057805, 3
EAE3505780E6. 4



Question Number : 28 Question Id : 64635014706 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
When subject and predicate of both the premises i1s same but they differ only in quantity, it

18 known as

(1) Subaltern
(2) Contraries
(3) Subcontraries

(4) Contradictories

Options:

64535057807, 1
64535057808, 2
64535057809, 2
4835057810, 4

Question Number : 28 Question Id : 64635014706 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

S AF1 ATIR Al S I3y A U ag 2, T e aen e 2 a1 3R e s W S St 2

(1) T

2  faufiq ug

3  3u-foudia wg

(4  fevrama
Options:

64535057807, 1
64535057808, 2
E4E35057808. 3
E4E35057810. 4

Question Number : 29 Question Id : 64635014707 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Identify the reasoning in the following argument :

‘Writing on paper 18 similar to writing on the board'.

(1) Deductive
(2) Hypothetical
(3) Analogical

(4) Inductive
Options:
64835057311, 1
E4E25057812. 2
E4E250578135. 2
645350575814 4

Question Number : 29 Question Id : 64635014707 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frefafiaa o 8 @& $i vgam A “wrme 9 egd i o dad & meun 2|

(1) T
(2) T
(3) HIGTATHF

(4) HANHATHSE
Options:
6453505758111
64535057812 2
64535057812, 3
64535057814 4

Question Number : 30 Question Id : 64635014708 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The proposition ‘All leaves are green’ is equivalent to which of the following propositions?

(a) No leaves are green
(b) No leaves are non-green
(c) No leaves are in other color than green

(d) No green is leaf

Select the correct answer from the options given below :

(1) (b), (c) and (d)
(2) (a) and (b)
(3) (b) only

4  (b) and ()
Options:
54635057815, 1
54635057516, 2
64635057817, 3
64635057518, 4

Question Number : 30 Question Id : 64635014708 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



ah ar ot i gfta 27 Feffad | & e a area & anged 2

(@) @ ot el 2l A 2

b)  F3 o w=h zfarfza 74 2

() i ot uxll gfia % ae @ @ hi Al 2
@) g ot e, ot A2 2

iy o e vt i & wé S g

O ) € @@

@  (a) #iT (D)

3) A4 (a)

@ (b))
Options:

64535057815, 1
E4E3505781E. 2
EAE35057817. 3
64535057818, 4

Sub-Section Number: 4
Sub-Section Id: 646350698
Question Shuffling Allowed : Yes

Question Id : 64635014709 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label - Comprehension



Consider the following table that shows the total number of tickets sold of five movies P, @,

R, S and T, across two cinema houses A and B on a particular day. In accordance with the
table, answer the questions that follow (Question 31-35) :

Sale of Movie Tickets Cinema house wise
Cinema
Movies
A B
P 200 300
Q 350 400
R 250 G150,
5 500 250
T 400 250

Sub questions

Question Number : 31 Question Id : 64635014710 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The number of tickets sold of mowvie T at Cinema house A 1s what percent of the number of
tickets of movie P sold at Cinema A?

(1) 220% (2) 200%
(3) 210% 4)  190%
Options:

E4E35057819. 1
64535057820, 2
64535057821, 3
E4535057822. 4

Question Number : 32 Question Id : 64635014711 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the total number of tickets sold of movies @ and R together at both the Cinemas A

and B together?

(1) 1050
(2) 1200
(3) 1250
(4) 1350
Options:

EAE35057823. 1
E4E35057824. 2



EAE35057825. 3
BAE35057826. 4

Question Number : 33 Question Id : 64635014712 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What 1s the ratio of the number of tickets sold of movie P at Cinema B to the number of

tickets sold of movie @ at Cinema B?

I 2:3
(2) a4
(3) 1:8
(4) 215
Options:
64535057827, 1
4835057828 2
E4E35057829. 2
64535057820, 4

Question Number : 34 Question Id : 64635014713 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the difference between the total number of tickets sold of all movies together at
Cinema A and the total number of tickets sold of all movies together at Cinema B?

(1) 180 (2) 170
(3) 150 4 160
Options:

64535057831, 1
64535057832, 2
64535057832, 3
EAE35057834. 4

Question Number : 35 Question Id : 64635014714 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the average number of tickets sold at Cinema B for movies T and S together?

(1) 360 (2) 820
@) 300 (4) 340
Options:

E4E35057835. 1
EAE35057836. 2
E4E35057837. 3
64535057828, 4



Question Id : 64635014709 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehension

fferiaa arferr ut feem $ifse, S ok e 59 w fEeeE - v s e - | 3 e eeHi- b, e,
AW, v A A F ERd i pa gen f R gt 21 3o @ifvs % san g e gl (9 g
31-35) % 3rax diforu:

o feoa-fewal F G
s ferraTER
T Eil
i 200 300
| 350 400
AT | 250 350
| 300 350
Gl 400 250

Sub questions

Question Number : 31 Question Id : 64635014710 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frarEr-u © fen-4a 6 gl f m fewd fi gea o gfas FBAuEr-v w Fea-dt 1 5= o0
el =i w6t qoFT 8 fFa e

(1) 220 siqwd (2) 200 i
(3) 210 wieeEa (4) 190 widew@
Options:

645350578149, 1
64535057820, 2
E4E35057821. 3
EAE35057822. 4

Question Number : 32 Question Id : 64635014711 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gFi Rrmri-v i = 1 e # fFen-ag o hen-an 6 fsh i 8 fewei f Fa ge el 27

(1) 1050

(2) 1200

(3) 1250

(4) 1350
Options:

64535057823, 1
64535057824, 2
EAE35057 825, 3
EAE35057826. 4

Question Number : 33 Question Id : 64635014712 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ol v feen-dt 6 fsht it 78 B 6 men = auE fReme-a v fEen-wy el &
fesrdl 1 qaT | fera 2:

(1) 259
2 3:4
(3) |
(4) 3:5
Options:

EAE35057827. 1
E4E35057828. 2
64535057829, 3
64535057830, 4

Question Number : 34 Question Id : 64635014713 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

forre-u g g fyen o ot el 6 fehl 6 13 el 1 sa aen i Beerer- o ga fgen
mft fecri it fosht &t 73 o=l A 7 g F = wm e 27

(1) 180 (2) 170
(3) 150 (4) 160
Options:

E4E35057821. 1
B4E535057832. 2
64535057833, 3



EAE35057834. 4

Question Number : 35 Question Id : 64635014714 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fomara=afl w wen-A it ve 6 Fa e skl 6 12 2w i olae g feadt 27

(1) 260 (2) 320
(3) 300 (4) 340
Options:

64535057835, 1
64535057836, 2
EAE3505783Y. 3
EAE35057838. 4

Sub-Section Number: 5
Sub-Section 1d: 646350699
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635014715 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following statement(s) is/are True in respect to ICT?
] i ICT is an acronym that stands for information and competitive technology.

1 The effective use of ICT to support learning in the inclusive education exemplifies
good teaching for all learners.

(1) Ponly (2) Qonly
(3) Both P and @ (4) Neither P nor @
Options:

E4E35057839. 1
64535057840, 2
64535057841, 3
64535057842, 4

Question Number : 36 Question Id : 64635014715 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFrefafiga & @ /a8 w7 a5 @ & % w812 2/77

B A3 i & v uiEel 2, MO aesd FEEEHE UE it s (g1 va gfaea gt
TR 21

Q marah foen 9 wafem smdR % fau o O & =1 ovedt sse ol FendiE F oo o o=
TSm=roT %71 3|IET 2 |

(1) %= (P (2) & Q)

(3) (P) & (Q) & @ Fa@EATh @

Options:

64635057839, 1

64635057240, 2

64635057841, 3

£4635057842. 4

Question Number : 37 Question Id : 64635014716 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What 18 spyware in respect of computer software?

(1) Software that aims to gather information about a person without his'her knowledge,
and that may send such information to another entity

(2) Legitimate software that allows companies to monitor and supervise the computers of
their employees from a central location

(3) Software used to disrupt computer operation or gain access to private computer
syvstems

(4) A computer program hidden within another seemingly harmless program that
produces copies of itself and inserts them into another programs or files

Options:
E4E2E057E42. 1

EAE35057844. 2
E4535057845. 3
B4535057846. 4

Question Number : 37 Question Id : 64635014716 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



FRA ATFeA & G’ W T1ga #4187

(1) 92 uire, fSow 32y uF =afd & o 8§ 3okl SIHFE & &9 gom usT &1 2 ol a8 3

W o GEAT S AR R 9 w2 |

(2) @2 A9 gl Al BYFA Fl Uk bl ud 8 3k wHaiiEl & el o Feee @i gut
A &l 2 |

(3) a8 aireser, e wege % afeen % fGges &@ @ B ween yonelt o 9w 9n % fog
I foa S 2|

@) w9 g ameh g % darfa fm v were sium, S s sfafaften sEra 2
AN ST YU A1 FEed H YO = 2 |
Options:
64635057343,
64635057344
E4E35057545,
64635057846,

o IR

Question Number : 38 Question Id : 64635014717 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following best describes a wiki?

(1) A system that allows users to add information onto a website but does not change
any pre-existing information

(2) A system that allows collaborative modification of 1ts content and structure directly
from the web browser

(3) A system that serves as a publically accessible personal journal for an individual
(4) A system that monitors the modification of content within a blog

Options:

45350575471

E4EZEOE VLS. 2

E4E35057848. 3
E4E35057850. 4

Question Number : 38 Question Id : 64635014717 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fafafaa @ @ 9 fahl (Wiki) &1 3on fGaEro gan 2:

(1) & yonell, St IFERTRale] 1 Uh daEEe U geEl Sied odt 2, <k o | e B ot gem
= fafda == 81 2t |

(2)  OF qoTel, S Gerd 9 U e $Sen o A0 fanasg o TRV IRE Araiee f et ot 2

(3)  UF gUTdl, ST HESiHE 89 8 A s safEad de & w9 3 w5 w2

(4)  UF qUledl, ST U sAnT & Haw AT # SR F 2

Options:



EAE35057847. 1
64535057848, 2
64535057849, 3
64535057850, 4

Question Number : 39 Question Id : 64635014718 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Anjali's teacher uses VLE, a software tool designed to deliver courses online. The acronym

VLE stands for

(1) Video Learning Environment
2) Visual Learning Environment
(3) Virtual Learning Environment

(4) Visual Local Environment
Options:
64535057851, 1
64535057852 2
E4EZE057E53. 2
64535057554, 4

Question Number : 39 Question Id : 64635014718 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wstell w1 e Aeng TEE=dl WH e F o dun R e v At 3T U § I
Fd1 2 | F2 afEel & va § 1 #9712

(1)  difear @ FHamEEse
(2  fostere @b FamEEz
(3)  awAd AR sHarEEEE
(4) oS e FaEEEHE

Options:

64535057851, 1
64835057852 2
4535057852 2
64535057854, 4

Question Number : 40 Question Id : 64635014719 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1s the decimal equivalent of binary number 11001107

1) 102
@ 204
3 153
@ 51
Options:

64535057855, 1
E4E35057 856, 2
E4E35057857. 3
64535057858, 4

Question Number : 40 Question Id : 64635014719 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fg-=#A 1100110 =1 T9qeH GIHeTd FHT 27

1 102
@ 204
@ 153
@ 51
Options:

64535057855, 1
E4E35057 856, 2
E4E35057857. 3
64535057858, 4

Question Number : 41 Question Id : 64635014720 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which are the examples of potential kinetic energy? Select your answer from the options
given below :

(1) Water that 1s belind a dam

(11) Radio signals

(1)  An airplane idling on the runway
av) A satellite before it 1s launched
() A colled spring

(vi)  Heat harnessed from the oceans
Options :

(1) (1), ), v) and (V)
(2) @, @), (i) and (vi)
(2) (i), Gm), Gv) and (v)

4) (@), G@v), (v and (v1)

Options:

64535057859,
64535057360,
4835057361,
4535057862,

o P

Question Number : 41 Question Id : 64635014720 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frefafiaa & @ #F 3 vy nfos F= F g E:
A= fEu o foreren O & a1 S 9T

(i) 19 & fis 1 ST

Gi) A a%as

(i) eI 99T g1 faHH

Gv)  wemurd gd fufa § 3wz

@)  Fefaa f@m

(vi)  HEHTT I 360 ISUE]
farerey

1) @, i), (v) #N @)

@ ), @), (i) #N (Vi)

(3 G, [il), (v) W )
@ Qi) (v), (v) ST (vi)

Options:

64835057359, 1
E4E35057EE0. 2
64535057861, o
4535057862, 4

Question Number : 42 Question Id : 64635014721 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Statement I :  The Millennium Development Goals were adopted in the United Nations in
the year 2010

Statement I1: Developing a global partnership for development was one of the Millennium
Development Goals.

Which of the above statements 1s/are correct?

(1) Only I

(2) Only IT

(3) Both I and II
(4) Neither I nor 11

Options:
64635057863, 1
E4E35057864. 2



EAE35057865. 3
E4E35057866. 4

Question Number : 42 Question Id : 64635014721 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) =& ()

(2) Fad (1D

(3) (@) = (II) 2Fi
@)  Fda @) qw T & A

Options:
E4E35057563. 1

EAE35057864. 2
E4E35057865. 3
E4E35057866. 4

Question Number : 43 Question Id : 64635014722 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following conferences/summit 1s also known as UN Conference on

Sustainable Development (UNCSD)?

(1) The Stockholm Conference, 1972
2) The Rio de Janerio Conference, 1992
(3) The Johannesburg Summit, 2002

(4) The Rio + 20 Conference, 2012
Options:
EAEZE057EEY. 1
4035057868, 2
64635057569, 3
64635057570, 4

Question Number : 43 Question Id : 64635014722 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  *2iwgm qeH, 1972

@  frer 2 Sefien ogtes, 1992
(3)  SitEwgsri firaw aies, 2002
(4)  fel +20 geEA, 2012

Options:

64535057867, 1
64535057868, 2
4835057869 2
E4E35057E70. 4

Question Number : 44 Question Id : 64635014723 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In the formation of surface Ozone, which of the following do play an important role?

(a) Oxides of mtrogen
(b) Ozxides of sulphur
(c) Sunlight

() Carbon monoxide

Choose the correct answer from the code given below :

1) (&, b)©
@ (b)) @
3 @, © @
@ (@), b)) @

Options:

64635057871, 1
E4E3S0S7E72. 2
645350573573, 5
4535057874, 4

Question Number : 44 Question Id : 64635014723 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  ARISH % SAlFEsd
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@ =i

(4)  FEA HAEES
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1 (@, b)) ©
@ B © @
@ (@, ), W@
@ @, k) d

Options:

64535057871, 1
E4E3E057EYZ. 2
E4E3E057E7Z. 2
645350573574, 4

Question Number : 45 Question Id : 64635014724 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following belongs to the category of geophysical hazards?

(1) Infestation (2) Avalanches
(3) Invasive species (4) Diseases
Options:

64535057875, 1
EABE3505787E. 2
EAGE3S05787 Y. 3
E4E35057878. 4

Question Number : 45 Question Id : 64635014724 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(L  wE (2) famamE
(3) HATREF YSATaAT (4)
Options:

E4dE25057875. 1
E4dBZE057E7E. 2



EAGE3S05787 Y. 3
B4E35057878. 4

Question Number : 46 Question Id : 64635014725 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

GIAN (Global Imitiative of Academic Networks) has been launched by Government of India
in order to

(1) Encourage Indian Scholars to learn abroad

(2) Discourage Indian Scholars from researching in India

(3) Encourage global scholars engage with their counter parts in India
(4) Encourage global scholars to engage with Indian Scholars abroad

Options:

64635057879, 1
64535057880, 2
64535057881, 2
4835057882, 4

Question Number : 46 Question Id : 64635014725 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

YT RN BT 31 25.0. 04, (Toilaa sAfEnfea 1t seneius deawd) # sy &6 & 3299 2

(1)  urdiE Asaral # faey O fen agu #6 + fg dieonizd #6@ |

(2)  WrdE Al F 9Ed | W9 w0 Y gateaned w0

(3)  3fvas wsarel & Wi | e auatdal & @y fere wE wE & Oy denfza w5
@)  Afvas wearedl &I FRy § yndla asiasAl & 9 fGa w5 wE w1 #F e sz w6

Options:

E4E350575749. 1
64535057880, 2
64535057881, o
64535057882, 4

Question Number : 47 Question Id : 64635014726 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following forms a necessary component of Conventional Education System
in India?

(1) Learming from books (Z) Learning from the teacher
(3) Learning from thinking (4) Learmng through instructional material
Options:

E4E35057883. 1



EAE35057884. 2
64535057885, 3
E4535057886. 4

Question Number : 47 Question Id : 64635014726 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fefafaa § 9 w9 v 3 s oz & ok 2Evad ued 27

(1)  gea=l O HigA (2) oz o drg
@)  FaT & Higa (4) SFRETHS Gl & dreEm o @
Options:

64535057882, 1
EAE35057884. 2
E4E35057885. 3
E4E535057886. 4

Question Number : 48 Question Id : 64635014727 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following five vear plans of India has eiven special emphasis on “Education
and Manpower”?

(1) Third Five Year Plan (2) Fourth Five Year Plan
(3) Second Five Year Plan (4) Fifth Five Year Plan
Options:

64535057887, 1
64535057888, 2
E4E35057889. 3
EAE35057830. 4

Question Number : 48 Question Id : 64635014727 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fefefiga 9 & wra € foem gerndfa g & e A aee afa’ o fo s foan mn

(1) @l oeaEdig green (2) =heft geErdfa dE
() oEl gEEdE A (4) ur=d] gEEdy FieET
Options:

B4E535057887. 1
64535057888, 2
64535057889, 3
64535057830, 4



Question Number : 49 Question Id : 64635014728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Brain drain problem which was dominant in the maddle of 20t Century 1in India 1s indicative
of which one of the following aspects?

1) Lack of adequate facilities for advanced study and research in India

(1) The capacity of the developed nations to buy the talent at a price beyond the means of
the developing nations

(1) Increase of population and under utilization of human research
Chooze the correct option from below :

(1)  Only () and (iii)
2  Only i) and (i)
@  Only (i)

@  Only (i) and (i)

Options:

4635057891, 1
64535057892, 2
64535057893 2
64535057594, 4

Question Number : 49 Question Id : 64635014728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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()  und H 3o AT AN g gq uAi| ghms # emE |

Gi) o 2o ft 39 oo o ufaw-ga i aman, o emsfia 29t & aw 7 98 o)
(i)  SEEEET H g HAN AFE SEEEl A I

At fou o, el # 9wl Ben g

(1) Fae (i) AN (iii)
(2) Fad (i1) AN (i)

(3) Fa (iil)
(4) Fad (1) = (i)
Options:

645350578391, 1
64535057832, 2
E4E35057893. 3
E4E35057894. 4



Question Number : 50 Question Id : 64635014729 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The premier orgamsation established in India to deal with capacity building and research in
planning and management of education in India and South Asia is

(1) ATU
(3) NUEPA
Options:

64535057835, 1
E4E35057 856, 2
EAE35057897. 3
E4E350578398. 4

(2) SAARC Umniversity
(4) Nalanda University

Question Number : 50 Question Id : 64635014729 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

wrd AR 22 vfiEn | Ben & FEeE o yaeq § ogmar S T 919 o 39 O vrd | enfuda R

T A {2
Q) TR,

() wgidu
Options:

645350578395, 1
64535057836, 2
64535057837, 3
E4EZ50578395. 4

(2) @rh iﬁaﬁiﬁ (SAARC University)
(@) Awe fafFaenea

FART II Defence and strategic Studies

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

646350351
2

Online
Mandatory
92

92

200

Yes

No

1
646350700
Yes

Question Number : 51 Question Id : 64635014730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0



Who amongst the following had suggested that the notion of securnitv should no longer
be limited to the military domain, but also to the economic, the societal, the
environmental and political field?

1. Walter Lippman

2. Barry Buzan

3. Amold Wolfers

4. Ken Booth
Options:
435057599 1
E4E2E0573900. 2

E4E35057301. 3
EAE350573902. 4

Question Number : 51 Question Id : 64635014730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
378 4 frws g9 fam w1 6 e =1 wie o S 43 oF Hift 98 w0 ofte oo
sfifes, Srfare, wiawig it o-fas 49 o fiefe g =ik

1. awes fergi

2. aftgewE

3. sEfsdrd

4. &Y
Options:

B45350578595. 1
64535057300, 2
64535057301, 3
EAE3505730Z. 4

Question Number : 52 Question Id : 64635014731 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which book, the concept of 'societal secunity” has been defined by the authors as "the
sustainability, within conditions for evelution, of maditional pattems of language,
culture and religions and national identity and custom’?

L. Security : A New Framework for Analyeiz (1008}
2. Regions and Powers : The Structure of International Power (2003)

3. Writmg Secwriy : United States’ Foreign Policy and The Politics of
Tdentity (1092

4. Power, Economics and Securigy (1992)

Options:

64535057903, 1
64535057304, 2
64535057305, =
64535057306, 4

Question Number : 52 Question Id : 64635014731 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

fora T | dEe! g e TUAT @ SEuRn Sy, depfa, ol wft sl eiR
ﬂﬁ-&ma;ﬁmm%m-ﬁam%ﬁm vl & A At & =0 # ofvife
T B2

1. FEgiE: v oaad Wi gy (1998)
2 o O Oow: g ©F7 ST §evuaT e (2003)

3. T Reghe: gases wow oty U i 7 iR i wsERd
{1992}

4 I @i i faegivel (1992)
Options:
C4E2E057F903 1
CAEZE0E7904. 2

E4E35057305. 3
EAE35057306. 4

Question Number : 53 Question Id : 64635014732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following is NOT related to “soft power’ diplomacy?

1. Creditline

2. Culrural ties

3. Civil defence

4 Joint exercises
Options:
64635057307 1
64535057308, 2

E4E35057303. 3
E4E350573910. 4

Question Number : 53 Question Id : 64635014732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fmafafas | 8 s Hite ey e § Hafia a2

1. @

2. wieplow Hay

3. AW e

4. HgE e
Options:

64535057307, 1
E4E350573908. 2
E4E350573903. 3
B4535057310. 4

Question Number : 54 Question Id : 64635014733 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



In which year Indian Navy has declared "Maritime Security Strategy : Ensuring Seeure
Seas’ doctrine?

1. 2014
2. 2015
3. 2011
4, 2013
Options:

E4E35057911. 1
B4E35057912. 2
645350573913, 3
645350573914, 4

Question Number : 54 Question Id : 64635014733 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ferm od & urdta 8 3 Sy el S | i fasin de faee Ofte
farme

1 2014
2. 2015
3. 20m1
4 2013

Options:

64535057911,
4835057912,
4535057913,
64535057914,

o LIPS

Question Number : 55 Question Id : 64635014734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following is NOT a realist approach of foreign policy?

1 Principle of autonomy

2. National interest

3. Mandala theory

4. Tolerance
Options:
4535057915, 1
E4E2505791E. 2
E4525057917. 3
64535057915 4

Question Number : 55 Question Id : 64635014734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350579151
64535057316, 2
E4E350573917. 3
EAE350579158. 4

Question Number : 56 Question Id : 64635014735 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is the nght wav to define intemational relations as a
diseipline?

1.  Pluralistic

2. Antagonistic

3 Esoteric

4 Stoic
Options:
64535057915, 1
64535057920, 2

64535057921, 3
EAEZS057922. 4

Question Number : 56 Question Id : 64635014735 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
uw famg & w0 § saeifly de9y @ ahvuifie & & R Hofafae § 3 o9 ol wler

&7
1. SgoamE
2.
LR
4 s
Options:

E4E350579143. 1
EAE35057920. 2
B4E535057921. 3
BAE35057922. 4

Question Number : 57 Question Id : 64635014736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Davton Accord/Davton Peace Agreement was signed to solve the problem of
1. East Timor
2. Bosnia and Herzegovina
3. Kosovo
4. Vietnam

Options:

4635057923, 1
64535057924, 2
64535057925 2
64535057326, 4

Question Number : 57 Question Id : 64635014736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Praffas 49 e o & g & fm 38 oaid/ 28 wify 9vetd = e fey o

g7
1. off ferein
2. wifem SR
i S
4. TFagam
Options:

64535057923, 1
64535057924, 2
EAE35057925. 3
EAE35057926. 4

Question Number : 58 Question Id : 64635014737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Critical Security Studies theorv is based on
1. ‘balance of power and alliances
2. rationale choices and subjectivity
3. neo-realism and constructivism
4. subjective epistemology and objective ontology

Options:

E4E35057927. 1
64535057928, 2
64535057929, 5
64535057330, 4

Question Number : 58 Question Id : 64635014737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535057927, 1
64535057928, 2
64535057929 2
64535057330, 4

Question Number : 59 Question Id : 64635014738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which is NOT a condition for the successful working of collective security?
1.  The States must be roughly equal in power

2. All States must be willing to commit against the aggressor

el

An intemational organization must be prepared to oversee the cooperation
and action of the plan

4. Mazjor powers should resolve the bilateral conflicts of small States at
regional level

Options:

64535057931, 1
64835057932 2
4535057322 2
64535057924, 4

Question Number : 59 Question Id : 64635014738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835057931, 1
E4E35057322. 2
64535057922,
64535057334, 4

Question Number : 60 Question Id : 64635014739 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Who among the following is kmown as the prominent thinker of "German School of
Geopolities'?

I. Karl Haushofer

2. Spvionan

3. Rommel

4. Mackinder
Options:

64535057935, 1
64535057936, 2
64535057937, 3
E4E3505792E. 4

Question Number : 60 Question Id : 64635014739 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
R | | el - metfe et e Remu & ve Rias w9 & w27

1. e

2, EIEEE

3. 9w

4. e
Options:

64535057935, 1
64535057936, 2
645350573937, 3
E4E3505792E. 4

Question Number : 61 Question Id : 64635014740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The founding document of Eurcpean Economic Community (EEC) for commoen
market, now subsumed by the European Union was signed in 1957 under the

1. Treaty of Rome
2 Treaty of European Union
3. Treary of Warsaw

4. Treaty of Pans
Options:
E4E250579258. 1
EAE25057340. 2
E4535057941. =
64535057942 4

Question Number : 61 Question Id : 64635014740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

B45350579359. 1
645350573940, 2
64535057341, 3
EAE35057942. 4

Question Number : 62 Question Id : 64635014741 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

*Victory is the main object in war. If this ic long delaved, weapons are blunted and
morale depressed.” Who among the following thinkers has said this?

1. Kaurilva

2. Fuller

3. Jomini

4. Sun Tz
Options:

64535057943, 1
645350573944, 2
E4E35057945. 3
EAE350573946. 4

Question Number : 62 Question Id : 64635014741 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B4E35057943. 1
64535057944, 2
645350573945, 3
64535057346, 4



Question Number : 63 Question Id : 64635014742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to the Mandal theory of Kautilva, “Akranda’ is

1 next neighbour to the An
2. friend of the An-Mitra
5 friend in the rear
4 friend’s friend in the rear
Options:
C4EZEOEFa47 . 1
E4EZEQS 7948, 2

64535057945, 3
64535057350, 4

Question Number : 63 Question Id : 64635014742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Hiicey & AUSH MGl & o SHEvs B

1. iy Ao e
2 sir-FEwifE
3 wwEmE i

i EwmsEe e
Options:
645350579471
G4AE35057945 2
64535057349, 3
64535057350, 4

Question Number : 64 Question Id : 64635014743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who described nine varieties of ground in his writings?
1. Eautilva
2. SunTm
3. Clausewitz

4. Jomini
Options:
645350573511
64535057352 2
64535057353, 3
64535057954, 4



Question Number : 64 Question Id : 64635014743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
frea 3 oA | ol & A veRl &1 aviA i an?

1. =ifew
2. W&
3. Fuleed
4 A

Options:

64535057951, 1
64535057352 2
E4E35057952. 2
E4E35057354 4

Question Number : 65 Question Id : 64635014744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many forms of diplomacy did Kaurilya mentioned in his book, Arathasasira?

1 Five

o

Three

Seven

(3

4  Six
Options:
645350579355,
64535057356,
64535057957,
64535057358,

o P

Question Number : 65 Question Id : 64635014744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535057955, 1
64535057956, 2
64535057357, 3
E4E35057958. 4



Question Number : 66 Question Id : 64635014745 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“To conguer the command of the air means victory; to be beaten in the air means defeat
and the acceprance of whatever terms the enemy may be pleased to impose ” Who said
this?

1. J.F C. Fulle
2. Liddel Hart
3. Giulio Douhet
4. B.W. Miichell
Options:
C4EZE05F959 1
E4EZE05F9E0. 2

B4E535057961. 3
64535057362, 4

Question Number : 66 Question Id : 64635014745 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“amgaE W HfUwR s v @ o & e argda F ed @ end B e ol v g
Hifta feeu o aret et wrl & ufe wadon o fege sue 27

1. 9.0F @ Fm

2. frdmer

3. Tigiem Eee

4 o zey, HEE
Options:

64535057959, 1
64535057360, 2
E4EZ50573961. 3
EAE35057962. 4

Question Number : 67 Question Id : 64635014746 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Kautilavan concept "Vijigisu' refers to
1. prosperity
2}, protection
3.  dominion of the enemy
4. would be conguersr

Options:
64535057963, 1
E4E35057964. 2

E4B25057965. 5



EAE35057966. 4

Question Number : 67 Question Id : 64635014746 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fifera 21 faferfy 5t smumon fred wefim &

L W

2. HEEW

3. TEEITEme

4. wrdl s
Options:

E4E3505739E63. 1
EAE350573964. 2
E4E35057965. 3
BAE35057966. 4

Question Number : 68 Question Id : 64635014747 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘Operation Good Neighbour' is related to
1. Israel-Palestine
2. Israel-Lebanon
3. lsrael-Egwvpt
4 lsrael-Swiia

Options:
435057967, 1

E4E3505796E. 2
EAE35057969. 3
BAE35057970. 4

Question Number : 68 Question Id : 64635014747 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
SR TS T feud gt 7

1.  Soae-fEEE

b

TS ET

TEEaT-TH

[

4 FETEE_EE

Options:
64535057967, 1
64535057368, 2

B4E53505739645. 3



EAE35057970. 4

Question Number : 69 Question Id : 64635014748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following countries has used ‘human wave attacks™?

1. Amesica

2. Pussia

3. Iran

4. Irag
Options:

EAE35057971. 1
BAE35057972. 2
B4E35057973. 3
64535057974, 4

Question Number : 69 Question Id : 64635014748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Prafafas # & fow 3w 3 g 3o ammm =1 s e &2

1. e

A |

3. THE

4 TOF
Options:

EAE35057971. 1
BAE35057972. 2
B4E35057973. 3
64535057974, 4

Question Number : 70 Question Id : 64635014749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following has described temmor as a ‘psychological weapon of
unbelievable povwer'?

1.  Henry Kissinger
2. Jacques Soustelle
3. David Galula

4. Gegald Templer

Options:

E4E35057975. 1
64535057976, 2
645350579377, 2



EAE35057978. 4

Question Number : 70 Question Id : 64635014749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T @ foha afide @1 it wisa e AT BE & = H gt e 87

1. &l feftion

2. SEEET

3. Sfasimm

4. GRS TR
Options:

EAE35057975. 1
BAE35057976. 2
BAE35057977. 3
64535057978, 4

Question Number : 71 Question Id : 64635014750 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The ‘Fissile Material Cut-off Treaty’ (FMCT) is a treaty to prohibit the further
production of

1. bioclogical and chemical agents

2. high-ennched uranium and plutonium
3.  high grade chemical material

4. high power explosives

Options:

64535057979, 1
E4E350573280. 2
64535057981, 5
64535057982, 4

Question Number : 71 Question Id : 64635014750 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘frege Affaa we-ofe &6 o m 9. ) w i i d SR d e d | e
geare @ faftg st 27

1. e R v e

2. ge-dHafiy QI o wEm
3. IHEUS S TS aEul

4. TS eeEs

Options:
64535057979, 1
64535057380, 2



EAE35057981. 3
BAE35057982. 4

Question Number : 72 Question Id : 64635014751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The term P53+1 is related to

1. muclear dialogue with North Korea

Bt

nuclear dialogue with Iran
3. nuclear dialogne with Paldstan

4 nuclear dialogue with India
Options:
E4E25057985. 1
E4E25057984. 2
E4535057985. 3
64635057956 4

Question Number : 72 Question Id : 64635014751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
w015 +1 fred wefim &7

1. S Sl s i iish daE
2. e Ty s
3. OfEwEE® oy iiETy gag

4. YEGF Ty s 9ag

Options:

64535057983, 1
64535057384, 2
64835057985 2
45350573386, 4

Question Number : 73 Question Id : 64635014752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which treaty has the clause that "Moon and other celestial bodies shall be used
exclusively for peaceful purposes’”?

1.  Place of Weapons in Outer Space

b

European Space Treaty

Chier Space Treaty

sk

4. UN Treaty for Outer Space Fesearch

Options:
64835057987, 1
E4E35057958. 2



EAE35057989. 3
E4535057930. 4

Question Number : 73 Question Id : 64635014752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ferm wfY # a5 waum & & <o AR o oreeitn favsl @1 o= w0 § i wiferge
el & o foman o2
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Options:
64535057987, 1
64535057388, 2

E4EZ50579859. 3
E4B25057980. 4

Question Number : 74 Question Id : 64635014753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following African countries made polygamy compulsory due to

heavy male casualties in wars?
1. Nigedia

2. Entrea

Lia

Egypt
4 Libva

Options:

64535057991,
645350579392,
64535057993,
4835057994,

[ N

Question Number : 74 Question Id : 64635014753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
froftfEa & @ few sete! 30 3 ga 9 yill ¥&n A 9odl &1 59 & SR gl @

sifrard & ui?
| - L
2 wifew
3 =
4. ifEm

Options:



E4E35057991. 1
B4E535057982. 2
64535057983, 3
64535057934, 4

Question Number : 75 Question Id : 64635014754 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In which country “Arab Spring” was started in 20117

1. Yemen

b

Egvpt

Tunisia

1pd

4 Symia
Options:
64535057355 1
64635057996, 2
E4B35057997. 2
E4B35057995. 4

Question Number : 75 Question Id : 64635014754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ragmd 2011 # o B S geam gt @

1. T

2. fom

3. eyt

4. Hifam
Options:

E4E35057955. 1
64535057986, 2
64535057937, 3
64535057938, 4

Question Number : 76 Question Id : 64635014755 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The Nine-Dash Line is related to which water region?

1 south China Sea

b

Persian Gulf

L

East China Sea

4. Andaman Sea

Options:



EAE350579595. 1
64535058000, 2
64535058001, 3
E453505800Z2. 4

Question Number : 76 Question Id : 64635014755 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

- 2w ons few oo & @ wEfim &
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4, HEAFEIH

Options:

64535057999, 1
64535053000, 2
64835052001, 2
4535052002, 4

Question Number : 77 Question Id : 64635014756 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which country is related to “Aegis Ballistic Missile Defence Svstem™?

] Britain

B2

America

Russia

s

4. Israel
Options:
64535058003 1
64835053004, 2
64535058005, 5
E4EZ5053008, 4

Question Number : 77 Question Id : 64635014756 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ofera #ftfees frmge et frvew e 2w @ defim w7

1. faes

2



Options:

64535058003, 1
64835058004, 2
4535058005, 2
64535058006, 4

Question Number : 78 Question Id : 64635014757 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which vear Eivoto Protocol entered into force?

1. 2007
2. 2001
3. 2003
4, 2005
Options:

E4E35058007. 1
E4E35058008. 2
E4535058005. 3
E4535058010. 4

Question Number : 78 Question Id : 64635014757 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

o o & Fic) WiSteiE AR gen ui?
1. 2007
2. 2001
3. 2003
4. 2003
Options:

64535058007, 1
E4E35058008. 2
E4E35058003. 3
E4E35058010. 4

Question Number : 79 Question Id : 64635014758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
India-Amerca Mantime Secuntv Dialogue (2017) was held at

1. Rhodelsland
2 Guam Island

Hawaii Island

L

4 Okinawa Island



Options:

64535058011, 1
64835058012 2
4535058012 2
64535058014, 4

Question Number : 79 Question Id : 64635014758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ya- sl Tt e aml (2017) FEi sratfea g8 47

1. WsEN

2. THMEEN

3. FOEE

4. ffeTad
Options:

64535058011, 1
64535058012, 2
64535058012, 3
E4E35058014. 4

Question Number : 80 Question Id : 64635014759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Russian Kant airbase is located in
1 Kyrgvastan
2. Oman

3. Turkmenistan

4. Kazakhstan
Options:
E4E825058015. 1
E4E25058016. 2
E4535058017. =
64535058015 4

Question Number : 80 Question Id : 64635014759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T T Hic O SE e &7
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4. TErEEe



Options:

64535058015, 1
64835058016, 2
4535058017, 2
64535058018, 4

Question Number : 81 Question Id : 64635014760 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘Brovwn Amendment’ was adopted by the US Senate in which _y:a.r"

] 1950
2. 1995
3. 1998
4. 1986

Options:

64635058019, 1
64535058020, 2
64535058021, =
64835058022, 4

Question Number : 81 Question Id : 64635014760 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
sifrat e 3 foe of & argw sosie & ofw Fm

1. 1990
2. 1995
3 1994
4, 1986
Options:

E45350580143. 1
B4E35058020. 2
64535058021, 3
64535058022, 4

Question Number : 82 Question Id : 64635014761 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following countries has developed and applied the idea of ‘peaceful
coexistence’ during the Cold War exa?

1. USA
2. Britain

Soviet Union

el

4. Germany

Options:

64535058023, 1
64535058024, 2
64535058025 =
4835058026, 4

Question Number : 82 Question Id : 64635014761 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frafifae 43 fra 2o 3 oo g2 & =ods $ Sm it oe- e & far = e
feem sire ga! W foan?

1. dgw ue it
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4,  TEE

Options:

64835058023, 1
E4E35058024. 2
64535058025, o
4535058026, 4

Question Number : 83 Question Id : 64635014762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The elite paramilitary force of Iran is known as

1. The Revolutionary Guards
2. Paramilitary Force of Iran
3.  Iranian Border Force

4. Tehran Rangers
Options:
E4535058027. 1
EAE25058028. 2
E4E35058029. =
64535058030, 4

Question Number : 83 Question Id : 64635014762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
g % 2fiarg o i ww = g T 3 ST w87

1. RiEeEi iy
2. ETmwm s

T HiE

ek

4 TEEHEE
Options:
64535058027, 1
64535058028, 2
64535058029, =
E4E35052020. 4

Question Number : 84 Question Id : 64635014763 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Integrated Defence Staff (IDS) was instituted in the vear :

1. 2000
2. 2001
3. 2002
4. 2003
Options:

E4E35058021. 1
E4535058032. 2
64535058033, 3
64535058024, 4

Question Number : 84 Question Id : 64635014763 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
for ot # Uwiga wan W (a5, 31 U) B SR e g 8y

1. 2000
2. 20
3 2002
4. 2003
Options:

E4E35058021. 1
E4E35058032. 2
E4535058033. 3
64535058024, 4



Question Number : 85 Question Id : 64635014764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Malacca Dilemma is related to which country?
1.  China
2. Japan
3.  America

4. South Korea
Options:
E4525058035. 1
E4E35058036. 2
64535058037, 2
64635053038, 4

Question Number : 85 Question Id : 64635014764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

B |1 5 e e | Hafty 27
1. &=
2, A
3. afE
4. ol
Options:

64535058035, 1
64535058036, 2
E4E35058037. 3
EAE3505803E. 4

Question Number : 86 Question Id : 64635014765 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which State of India ‘Wational Institute of Research and Development in Defence
Shipbuilding” is situated?

1 Tamil Madu

b=

West Bengal

3. Kerala
4 Gujarat
Options:

64535058029, 1
64535058040, 2
E4E35058041. 3
EAE35058042. 4



Question Number : 86 Question Id : 64635014765 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

YR ¥ 50 T F e feieye o e s Sane 3 e fifafedr e &

1. afEETg

2. ofgm e

3. &

4. TERE
Options:

64535058039, 1
E4E35058040. 2
E4E35058041. 3
EAE3505804%, 4

Question Number : 87 Question Id : 64635014766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘SIMBEX refers to

1. Singapore-India Maritime Bilateral Exercise

1. Singapore-India Manne Based Exercise

Lad

Singapore-Malaysia Bilateral Exercise
4.  Singapore-Malavsia Border Exercise

Options:

64535058043, 1
64535058044, 2
645350538045, 2
E4E35058046. 4

Question Number : 87 Question Id : 64635014766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Toamaas & = e 37
1. Fimp-sfem Affesw et v s
2. fomR-siEem #m s e
Rz argetets g

4. TEeT-iEm atET gaae

Laa

Options:
E4E2505504= 1

E4E35058044. 2
E4535058045. 3



EAE3505804E. 4

Question Number : 88 Question Id : 64635014767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Name the book authored by Nitin Gokhale

1. Bevand NJ0§48 : The Siachen Saga

2. Beyond NJO342 : The Stachen Saga

(FF)

NJOR4E » Disputed Territory
4. NJOB42 : Disputed Territory

Options:

64535058047, 1
64835058048, 2
4535058049 2
64535058050, 4

Question Number : 88 Question Id : 64635014767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A Tmd s e s se-d

. Ruizoaa9848 - Rzl amm
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Rz T w9842 - 7 Agreiorm

3. gRE9s4s: By i

1. pLE9R42: Bvgez HNiedt
Options:
46835058047, 1
46835058048, 2
46835058049, 2
46835058050, 4

Question Number : 89 Question Id : 64635014768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘Cold 5tart Doctnine’ of Indian Armv refers to

1. India’s counter-insurgency operations
2. India’s offensive strategy against China

India’s offensive strategy against Pakistan

s

4. India’s nuclear doctrine

Options:
64535058051, 1
64535058052, 2

E4535058053. 3



EAE35058054. 4

Question Number : 89 Question Id : 64635014768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535058051, 1
64535058052, 2
64535058053 =
64535058054, 4

Question Number : 90 Question Id : 64635014769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Former Minister of State Arun Singh headed which of the following committess?

1.  Ammn Singh Committee on Defence Expenditure
2. Amn Singh Committee on Defence Policy

3. Committee on Restructuring of Armed Forces

4 Committee on Security Affairs

Options:

64835058055, 1
4535058056, 2
64535058057, o
64535058058, 4

Question Number : 90 Question Id : 64635014769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
yegd Tren St wrew fife Fmifen o @ o ol & say 47
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4. enwEd Hed wiEi

Options:
4235058055, 1

E4E35058056. 2
E4535058057. 3



E4E35058058. 4

Question Number : 91 Question Id : 64635014770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following scholars gave credits to the Bmntishers “for creating a
unified Indian political entity with elear strategic poliey of defenee and offence
maritime security and land defence'?

1. George F. Kennan
2. George K. Tanham
3 Henrv Kissinger

4 Bamy Buzan

Options:

64835058059, 1
4535058060, 2
64535058061,
64535058062, 4

Question Number : 91 Question Id : 64635014770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Proferfam 43 e ol 3 v veites yrdn wroefifes st & wom & fog fterfiedt 90
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4 Fhegem
Options:

64535058059, 1
E4E35058060. 2
EAE35058061. 3
EAE35058062. 4

Question Number : 92 Question Id : 64635014771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which twe Ministers/Officials of the Government of India and Japan have participated
in the 2+2 dialogue?

1.  Prime Minister and Defence Minister

b

Prime Minister and Foreign Minister
3.  Finance Minister and Diefence Secretary

4.  Foreign Secretarv and Defence Secretarv

Options:
E4E2E05E083. 1



EAE35058064. 2
E4535058065. 3
E4E35058066. 4

Question Number : 92 Question Id : 64635014771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
U I S TP @ b 51 Hizal/ st 5 2+2 Tt o w27

1. werE SR wamE

2. R SR e A
3. el SiR varesh

4. TEmufE s e i

Options:
4535058063 1

E4EZ5058064, 2
E4E35058065. 3
EAE3505806E6. 4

Question Number : 93 Question Id : 64635014772 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is NOT one of the aims of the Indian Ocean Rim
Association (TORA)?

1. Social developmen: of Indian Ocean Rim Region

-

2.  Enhancing securitv and protection from piracy
3. Establishing military bases in the region
4.  Creation of trade facilities

Options:

64535058067, 1
64535058068, 2
64535058069, =
4835058070, 4

Question Number : 93 Question Id : 64635014772 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535058067, 1



EAE3505806E. 2
E45350580645. 3
E4535058070. 4

Question Number : 94 Question Id : 64635014773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Under the Indus Water Treaty (IWT), India has been given the exclusive rights over the
rivers of

1. Chenab, Indus, Sutlej
2. Ravi, Beas, Sutlej

3. Jhelum, Indus, Chenab
4. Ravi, Beas, Indus

Options:

64535058071, 1
64535058072, 2
64835058072 2
4535058074, 4

Question Number : 94 Question Id : 64635014773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
iy ot oY (o5, Bowg, &) & siala WRa & f= fedt W wo g sfien e By m 2
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Options:

64535058071, 1
EAE3S05807Z. 2
EAE35058073. 3
EAE35058074. 4

Question Number : 95 Question Id : 64635014774 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In the Mational Securitv Council of India which one of the following groups is
responsible 1o undertake strategic review of the country's security concerns?
1.  Strategic Analvsis Group
2. Strategic Policy Group
3 Defence Beview Committee

4. Nartional Security Analysis Group

Options:



E4E35058075. 1
E4E535058076. 2
BAE35058077. 3
64535058078, 4

Question Number : 95 Question Id : 64635014774 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
wRa 2 it e oiteg & PraffRe @ o o 2u e sien! & wates
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1w et g
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3. e EEla "

4. Inft e faedem wug

Options:

64535058075, 1
64535058076, 2
E4E3S058077. 2
4535058078, 4

Question Number : 96 Question Id : 64635014775 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The forward Naval base built ar Great Nicobar Island, commissioned in 2015, is :

1. SeaEagle

2. Dolphin

3. Jaltarang

4 Baaz
Options:

E4E35058075. 1
EAE35058080. 2
E4E35058081. 3
E4E35058082. 4

Question Number : 96 Question Id : 64635014775 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535058079, 1
4835058080, 2
4535058081, 2
64535058082, 4

Question Number : 97 Question Id : 64635014776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which among the t'u]lawing areas UNODC 15 :ugagcd. a.-c‘l:ix'n?l:.“.’I

1. Supporting least developed countries for their development

2.  Supporting children of war affected countries for their phvsical
development and education

Campaign against chemical weapons

e

4. Campalgn against drugs and organized crime

Options:
4525055083 1

E4EZ5058084. 2
E4E35058085. 3
E4E35058086. 4

Question Number : 97 Question Id : 64635014776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
.0 & R P At e d et
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Options:

4635058083, 1
64535058084, 2
64535058085, =
64535058086, 4

Question Number : 98 Question Id : 64635014777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The Economic and Social Council (ECOS0C) has been established under which one of
the following Chapters of the UN Charter?

1. VthChapter

2. Wllth Chapter

a3

VIIIth Chapter

4. Xth Chapter

Options:

64835058087, 1
4535058088, 2
64535058089, o
64535058090, 4

Question Number : 98 Question Id : 64635014777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Hged TP GO & (e s & savia anfile e aniae uiteg @ R @ 82

1. vl s
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VIIIE s

L

4. Xdl yurg
Options:
64535058087, 1
64535058088, 2
E4E35058029. 2
64535058030, 4

Question Number : 99 Question Id : 64635014778 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Amicle 55 of Chapter IX of the UN Charter promotes

1 self-determination

2. Human Rights
international securitv
4. food security

Options:

64835058091, 1
E4E35058092. 2
E4535058092. 5
64535058094, 4

Question Number : 99 Question Id : 64635014778 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
g P SIS & e [X S e 53 [eue! Wi gm 27
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2. wE e
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4. =T

Options:

64535058091, 1
64535058092, 2
64535058093, 2
4535052094, 4

Question Number : 100 Question Id : 64635014779 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one is NOT a coercive means to preserve peace and secunty and settle conflict?

1. Sanction

Bt

Preventive deployment

Blockade

L

4. Arbitration

Options:

4535058055, 1
64535058096, 2
64535058097, o
64535058098, 4

Question Number : 100 Question Id : 64635014779 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535058035, 1
E4EZ5058036. 2
E4E35058037. 3
E4535058038. 4



Question Number : 101 Question Id : 64635014780 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“Tropical evelone’ is related to which category of disaster?
1 Biclogical
2. Geophysical
3.  Hvdrological
4. Meteorological

Options:

45350550499, 1
64535058100, 2
64535058101, =
64535058102, 4

Question Number : 101 Question 1d : 64635014780 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
SIS CEUT TE AT (Cue T ageat) el #i e doit # gefim 87

1. s

2. it

3. oo-awhe

4. Amdwie
Options:

6453505803949, 1
645350558100, 2
E4E35058101. 2
E4E35058102. 4

Question Number : 102 Question Id : 64635014781 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one is NOT included as one of the Goals in Sustainable Development Goals
20507

1. Conservation of culture

2. Ensuring decent working condiriomns

3.  Lifebelow water

4. Building partnerships for achieving the goals

Options:

64535058103, 1
64535058104, 2
64535058105, =
64835058106 4



Question Number : 102 Question Id : 64635014781 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Had T T 2030 § #1959 US sy shafe a2
1. Hiwia &1 Hem
2. i s Rl S ghfie s
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Options:

64535058103, 1
64535058104, 2
64835058105 2
4535058106, 4

Question Number : 103 Question Id : 64635014782 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following countries is the largest borrower and second largest share-
holder of Asia Infrastracture Investment Bank?

1. Jzpan

2. China

el

India
4. Russia

Options:

4535058107,
64535058108,
64535053109,
4835058110,

[ N

Question Number : 103 Question Id : 64635014782 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535058107, 1
E4E35058108. 2
E4535058108. 2



E4E35058110. 4

Question Number : 104 Question Id : 64635014783 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
India's interim defence budget for the vear 2019-20is .

1. #295511 crove

[

¥ 3,01,866 crore

Lia

F 2.9% 689 crore

4. ¥3.06,000 crore
Options:
E452350558111. 1
64535058112 2
64635058113 =2
64835053114 4

Question Number : 104 Question Id : 64635014783 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
a9 2019-20 ¥ 70 wE & Sfafw 180 swe e uftn &1 87

1. 295511 SUST.
2. 301,866 SUT T
3. 298680 LT,

4. 306,000 ST
Options:
64535058111, 1
64535058112 2
64535058113 3
64535058114 4

Question Number : 105 Question Id : 64635014784 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which ameong the following is NOT a wartime economic instrument?
1.  Embargo

2. Repudiation

3.  Pre-emptive buving

4.  Control of enemyv assets
Options:
45250551151
4525058116, 2
C4de3E05E117. 2



E4E35058118. 4

Question Number : 105 Question Id : 64635014784 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Fafifan & @ o991 U= goen= srife aee @ 87
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Options:
64635058115, 1
E4B25058116. 2

E4E535058117. 3
E45350581158. 4

Question Number : 106 Question Id : 64635014785 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The termn ‘TOT stands for

1.  The Internet of Things
E. T‘ht Intﬂ[ﬂm ﬂfThjngS
3. The Intemet of Telecommunications

4.  The Intemet of Technology

Options:
4535055119, 1

E4E35058120. 2
E4535058121. 3
B4E535058122. 4

Question Number : 106 Question Id : 64635014785 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4535055119, 1
645350581200 2
64535058121, =



EAE35058122. 4

Question Number : 107 Question Id : 64635014786 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the sequence of the organizations according to the vear of their establishment

1. BIMSTEC, SCO, ASEAN, CPEC

B3

CPEC, ASEAN, BIMSTEC, 5C0O
3.  ASEAN CPEC BIMSTEC, 3CO

4. ASEAN, 5CO, BIMSTEC, CPEC

Options:

64635058123, 1
64535058124, 2
64535058125, 2
4835058126, 4

Question Number : 107 Question Id : 64635014786 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
i draal 31 35 =T 9 F O8N B § goae @1

1. o, oe e, oo, s
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e

4. v, o, e, dite

Options:

64635058123, 1
64835058124, 2
64535058125, 5
64535058126 4

Question Number : 108 Question Id : 64635014787 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘CAATSA’ stands for

1.  Countering America’s Adversaries Through Sanetions Aet

1

Containing America’s Adversaries Through Special Act

"

Combating America’s Adversaries Through Sanctions Act

4 Countering America’s Adversaries Through Special Act

Options:
64535058127, 1
64535058128, 2



E4E35058129. 3
64535058120, 4

Question Number : 108 Question Id : 64635014787 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4635058127, 1
64535058128, 2
64535058129 2
64535058130 4

Question Number : 109 Question 1d : 64635014788 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

One of basic prnciples of defence economics is -
1.  defence expenditure must be in propontion to defence requirements
2. defence expenditure iz a burden on development hence must be avoided
3. till universal peace is established, State must incur defence expenditure

4.  defencebudget attract limited scrutiny even in advanced countries like UUSA

Options:

64835058131, 1
64535058132, 2
64535058122,
64535058134, 4

Question Number : 109 Question Id : 64635014788 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
a1 siefare 1 g o gt @
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Options:
64535058131, 1



E4535058132. 2
64535058133, 3
64535058124, 4

Question Number : 110 Question 1d : 64635014789 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Whe has authored the book, Jndia's Quest for Secwrity : Defence Policies, 1047657
1. Amiva Kumar Ghosh
2.  Lomel Kavic
3. Jaspt Singh

4. P M 5 Blackeut
Options:
45350581355, 1
E45250581356. 2
E4525058137. 3
64535058138 4

Question Number : 110 Question Id : 64635014789 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
foram Sfeare e Wit firagfife : fata uiddie, 1947-65" 7w fomdt 27

1. 3 FAR Oy

2, TR FIeE

3. o fie
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Options:

E4535058135. 1
64535058136, 2
64535058137, 3
64535058138, 4

Question Number : 111 Question Id : 64635014790 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following is NOT true about Shaurva Missile?

1. Itisasurface to surface missile
g 2 It iz a subsonic missile
3 It is the land varant of India's K-15 missile

- The missile can be wsed by both the I\'av.v and the Armmy

Options:
64535058139, 1



E4E35058140. 2
645350558141, 3
64535058142, 4

Question Number : 111 Question 1d : 64635014790 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535058139, 1
64535058140, 2
64835058141, =2
E4E35058142. 4

Question Number : 112 Question Id : 64635014791 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which statement is NOT e abour the Geosvnchronous Satellite Launch Vehicle
(GSLV) Mark-37
1.  This is a fourth generation satellite developed by ISRO

2. It 15 designed to launch heavy satellites and wvehicles for cew in
geoastationary orbit

3. A foreign crvogenic engine has been used in this project
4. This is the heaviest rocket of India tll date

Options:

64535058143, 1
64535058144, 2
64535058145 =2
64835058146, 4

Question Number : 112 Question Id : 64635014791 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535058143, 1
64835058144, 2
E4E35058145 =2
64535058146, 4

Question Number : 113 Question Id : 64635014792 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The DRDO's rocket system which is evolved into a precision-guided missile is

1.  Prachand

2. Pindks

3.  Prahir

4. Nibhay
Options:

64535058147, 1
6453505581458, 2
64535055149, 3
E4E35058150. 4

Question Number : 113 Question Id : 64635014792 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
2. am. 2, o Y aw e womeht &1 A e R - i vdurs & wu  fasfie

e ey &1
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Options:

64535058147, 1
645350558148, 2
64535055149, 3
E4E35058150. 4

Question Number : 114 Question Id : 64635014793 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is NOT a physical component of cvberspace?
1. Terminals
2. Conduirs
3. Nodes

4 Data manipulation



Options:

64535058151, 1
64835058152 2
E4E35058152. 2
64535058154, 4

Question Number : 114 Question Id : 64635014793 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Proftfas 2 @ o9 geerEa 71 U6 Wifas 9o% T8 &7
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Options:

E4E35058151. 1
E4535058152. 2
64535058153, 3
645350558154, 4

Question Number : 115 Question 1d : 64635014794 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following is NOT related to quick executive decision system :
1.  Advanced intelligence gathering
2. Quick intelligence analvysis
3 Appropriate and effective budgeting
4 Accurate situational awareness

Options:

64535058155, 1
64535058156, 2
64835058157, 2
E4E35058158. 4

Question Number : 115 Question Id : 64635014794 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535058155, 1
64535058156, 2
64535058157, 2
64835058158 4

Question Number : 116 Question Id : 64635014795 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ReCAAP stands for

1. Regional Cooperation Agreement and Amangements for Combating Piracy
2. Reswrgence of Central Asiz and Asia Pacific

3. Fegional Cooperation Agreement on Combating Piracy and Armed
Fobbery

4. Regional Cooperation Amangements on Countering Piracy and Armed
Fobberv

Options:
4535055159 1

E4E35058160. 2
E4535058161. 3
E4E35058162. 4

Question Number : 116 Question Id : 64635014795 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535058159, 1
64535058160, 2
64535058161, 2
4535058162, 4



Question Number : 117 Question Id : 64635014796 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The present Foreign Diveet Investment (FDI) allawed in India’s defence sector is
1. 100 percent
2. T4 percem
3. 49 percent
4. 26 percent

Options:
45250551682 1

E4E35058164. 2
E4535058165. 3
E4535058166. 4

Question Number : 117 Question 1d : 64635014796 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
YT & 8 89 J aaa | o way e Few g, & o) Ft sefa
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3. 49 ufemm

4. 26w
Options:

E4535058163. 1
64535058164, 2
64535058165, 3
64535055166, 4

Question Number : 118 Question Id : 64635014797 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In the BMD components of US system, THAAD refers to

1. Tesrminal High Alitnde Air Doctrine
2. Terminal High Altitude Area Defence
3. Threat Against Air Defence

4. Termnal High Area Assessment Defence
Options:
E4E25058167. 1
E4E25058168. 2
E4535058169. 2
64535058170 4



Question Number : 118 Question Id : 64635014797 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535058167, 1
64535058168, 2
64835058169 2
4535058170, 4

Question Number : 119 Question Id : 64635014798 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The term 2+2 is associated with

¥ India-US military exercise

bt

India-US strategic partnership

Indo-Pacific command

L)

4. India’s entry into nuclear suppliers group

Options:

64635058171, 1
64535058172 2
64535058173 2
E4E35058174. 4

Question Number : 119 Question Id : 64635014798 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
a5 2+2 formd defim &7

1.  HRg-seifs 3 anarg
2. UE- s Toritae wiitenit
3 YNO-WEG oES

4. el gl T ® v @ aRi

Options:

64635058171, 1
E4E35058172. 2
64535058172, 5
64535058174, 4



Question Number : 120 Question Id : 64635014799 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Stuxnet 2010 (eyber sabatage) was an attack on
1. Iraman nuclear programme

2. ashut down of the banking svstem in Estonia

-

closing down of electric grid in Yugoslavia
4. eyber artack in Nonh Korea

Options:

4535058175, 1
64535058176, 2
64535058177, 2
64535058178 4

Question Number : 120 Question 1d : 64635014799 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
wWHRAE 2010 (@EER ) fEe w gwm wn?

1. Fmafienseea

[ £¥ )

SR S # yoeh =1 gl &

L

T S Seifae® 5% &1 39 B

4. GuT i H wgeT pEe

Options:
4235058175, 1

E4E35058176. 2
E4E35058177. 3
64535058178, 4

Question Number : 121 Question 1d : 64635014800 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who amongst the following has stated that ‘the third wave brings new problems, a new
structure of communications, new actors on the world stage—all of which drastically
shrink the power of individual Nation-5tate’?

1. Herbert Sipro

2. Alvin Toffler

3. John Herz

4. Carl J. Friedrich

Options:

4535058179, 1
64535058180, 2
64535058181, =
645350581382 4



Question Number : 121 Question Id : 64635014800 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

= & fres oo ui % o 39 Ry O w9 gl dun & ve 8 dge ol quame
et & it dnfes ay-Twn 3 wiEa F amfis wu d feered #7

1. &R

2. fRA TR

3. wiAEew

4. @ 9.FNE
Options:

E4E35058179. 1
64535058180, 2
64535058181, 3
64535058182, 4

Question Number : 122 Question Id : 64635014801 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following factors is NOT responsible for India’s peaceful rising in
intemational relations since 19987
. Economie revival
2. Scientific and technological development
3. Well trained human resources
4. rising population
Options:
64535058183, 1
64535058184, 2

64535058185, 3
645350558186, 4

Question Number : 122 Question Id : 64635014801 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
1998 | arciign dasdf # wma & wifvq sngen & fin Pofefag 4 & o9-w s

Fvand Tl &7
1. nfife grerem
2. A ofR v e
3. g e g

4. wgdl waaE

Options:
4535058153 1
4535058154, 2



E4535058185. 3
E4535058186. 4

Question Number : 123 Question Id : 64635014802 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ESRO stands for :

1. European Solar Research Organization
2. European Space Research Organization
3.  European Sea Research Organization

4. European Scientific Research Organization

Options:

64535058187, 1
64535058188, 2
64835058189 2
4535052190 4

Question Number : 123 Question Id : 64635014802 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e cal o h

1. gEifeEs wew fae st

3 it e s
it o S sffreeTm

4. gifeos sRfes fded siffmes

Lad

Options:

64535058187, 1
64535058188, 2
64535058189, =
64835058190 4

Question Number : 124 Question 1d : 64635014803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The major objective of India’s 1969-74 defence plan was focused on
1. selfaeliance in the field of nuclear technology
2. self-reliance in the field of warship design and warship production

self-reliance mn the field of armament production

el

4 self-reliance in the field of space technology

Options:
45250551911

E4E350581392. 2



E4535058193. 3
E453505581394. 4

Question Number : 124 Question Id : 64635014803 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HITd 1 1969-74 1 140 Tre1 &1 920 Se9d {68 W &iwa un?

1. Tfuenwaiet & g J srafde

!‘-\_J

et FEaTe= AR gadia & S & &4 § st

T Tt & gEne & g F arefrd

lad

4. otafre vt 4 F ammfnka

Options:

64535058191, 1
64835058192 2
4535058192 2
64535058194, 4

Question Number : 125 Question Id : 64635014804 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following spacecrafts of NASA has lost contact with earth after
amiving at Red Planer?

I. Discovery

B

Columbia
3. FRover Opportunity

4. Adventurer
Options:
E4535058195. 1
64535058196, 2
64635053197 2
645350581398, 4

Question Number : 125 Question Id : 64635014804 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
a7 & fare ofefie o 3 v e w wged & g gt & Ty wad g R

1. fe==h

]

EatE ol

e g

Lad

Options:



E4535058195. 1
645350581396, 2
645350581397, 3
645350558138, 4

Question Number : 126 Question Id : 64635014805 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the comrect code for the following Assertion (A) and Reason (R) :

Assertion (A) @ The "Operation Sadbhavana’ has generated tremendous goodwill
between the Army and the locals in Kashmir,

Reason (R) ‘Operation Sadbhavana’ was an attempt 1o be more people centric and
based on minimum use of force against the locals

Select the correct option from those given below: :

1. Both(A)and (R) are not true

2. (A)is true but (R) is not true

Both {A) and (E) are true

Lad

4. (A)is nottrue but (B) is true

Options:
4525055199 1

E4E35058200. 2
E4535058201. 3
B4535058202. 4

Question Number : 126 Question Id : 64635014805 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Frofafan sfimus (A) ok aF R) & i o g @ eam =4

iU (A) - SHRER FEMTEET 3 SRR § 91 o =g Tmiiet © 8 O 95eE

Sam frar 21

7% (R) : ST BEHIET e w-$i50 517 &1 0% W W1 S} R Jmfst
TR ATH 9 S WO I 1T o

el e w1 9 1

1. (A) ¥RE) SF T TEE

b

(a) o8 & Peg ) wft 7 2
3. (A)MRE)EHEHE

4. AT e e T

Options:

64535058199, 1
64535058200, 2
64535058201, =
64835058202 4

Question Number : 127 Question Id : 64635014806 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the comect code for the Assertion (A) and Reason (R) :

Assention (A) : One of the important routes by which a conflict in one country
adversely affects neighbouring countries is through neighbourhood
arms race.

Reason (R)  : Arms race sharply increases militancy expenditure of countries which
further leads to the risk of war.

Select the correct option from those given below |

1.  Both{A)and (R) are correct and (R} is the comrect explanation of (A)

]

Beoth (A) and (R) are not cormrect

{A)is correct but (B) is not related to the (A)

W

4. (A)is not comrect but (R) is correct

Options:

64535058203, 1
64535058204, 2
64535058205, 2
E4E35058206. 4



Question Number : 127 Question Id : 64635014806 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
frmftfEa afieuT (A) o 7% (R) F R 98 g S mgam a1

i) Tl mFima i mriwH s Revmsmm i

usiftyl & dia ¥ 85 2 8l ol al

TF (R) :W%}Fﬂﬁﬂﬁﬂgfmmﬂéﬁﬁﬁﬂéﬁﬁﬁﬁﬁ%ﬁ“ﬂﬁﬁﬂmﬁmﬁ
T B

oEl e & g o

1 (A) R ®R) 1 @8 € o (R). (A) B WEl ouram §

b

(A) 3R (R) T TR T &
3 (A)EE R BER) (A) ¥ Hefm TR

4 (EETEEBge

Options:

64535058203, 1
64535058204, 2
64535058205, =
4835058206, 4

Question Number : 128 Question Id : 64635014807 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Give below are the two statements— one labelled as Assertion (A) and the other labelled
as Reason (R} -

Assertion {A) - US is the only country that has the capability of achieving absolute
energy security in the contemporary era.

Feason (R} : Since the end of Cold War, the US has basically controlled the global
oil and gas resources and transit check points through military
cooperation with its allies.

Read the statements and choose the comrect answer using the codes given below :

1.  ({A)is correct but () is not correct

b

Both (A) and (R} are not comrect

3 {A)is correct but (R} is not the correct explanation of (A)

4.  Both(A) and (R) are correct

Options:
E4AEZE055207. 1

E4E35058208. 2
E4E35058209. 3



EAE35058210. 4

Question Number : 128 Question Id : 64635014807 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
42 9 = e ¥ U = oA (A) IR g T aE R) FE A

i (A) - ﬁnaﬂ%ﬁﬂgﬂﬂarﬂﬁwqm%m%ﬁﬁ%ﬁwwaﬁf?ﬁ&nwmﬂﬁ
& B

@ (R) : Tite g @ Tl & are, T st o e opl & e e agerd &
wrey # At 39 R i EEET 9R gifee 9 e = FeEm s 2

Pl 1 03 o A1 Faw o e @ e @ wh I T

1L (A) w2 R of 82

2

(A) 3R (R) ST Wet 8 &
3. (A)THE Rm) (A) = aren R

4. (A)SIRR)EHEHE

Options:

64535058207, 1
64535058208, 2
64835058209 2
4535058210, 4

Question Number : 129 Question Id : 64635014808 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements—one labelled as Assertion (A) and the other labelled
as Reason () :

Assertion (A) - Begionalism is based on the assumption that globalism is still
premature.

Beason (R) - However, regionalism is an acknowledged feature of intemational
relations and such amangements are now accomplished fact on the
international scene.

Read the statements and choose the comreet answer using the codes given below :

1.  Assertion (A) is incomect but Reason (R)is comect

I

Assertion (A) is correct but Reason (B) is incorrect

3. Both Assertion (A) and Eeason (E) are incorrect

4. Borh Asserion (A) and Reason (R) are correct but (R) is not the comrect
explanation of (A)

Options:
64635058211, 1



EAE35058212. 2
64535058213, 3
64535058214, 4

Question Number : 129 Question 1d : 64635014808 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
#2 51 7u= i T &1 ve F affieyd (A) SR g # 0% (R) F@ T &
fiA (A) : wifioamee 57 awon W anuifiE § 6 sptsemmg and ot amfyow )
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F1 a3 ey uiew W s geiita aw 2

FAlBI R Te Rt mad sl mes Aadiam &
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SR (A) 3R 7% (R) ST vl 78 &

4 fEuE (A) SR as (R) EFTEE 2 g (R, (A) &1 ot arem Al 2

Options:

4635058211, 1
64535058212, 2
64535058213 2
64535058214, 4

Question Number : 130 Question Id : 64635014809 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify the correct code for the following Assertion (A) and Reason (R) -

Assertion (A) © Since very early times "Artha has been regarded as a 'Shastra’
concemned with general well being on earth.

Reason (R) : State activity alone can make general well being possible by the
protection of earth and its acquisitions are declared the province of
*Shastra’.

Codes .
1. Both(A)and (R) are true
2. Both(A) and (R) are not true
3. (A)is not true but (R) is true

4 (A) is mue but (B) is not true

Options:
64535058215, 1
64835058216 2



E4E35058217. 3
E45350582158. 4

Question Number : 130 Question Id : 64635014809 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
frafafan sifie (A) 9k 7@ (R) & g 8 ge @1 mmam &t

S (A) ¢« e wEE o 8 8 el S ot o e TR o veE § datia e
W & w0 & 5 T R
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1L (A)IREP)ITFTTE
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4 (A e B ®R) v R

Options:
E4E325055215. 1

E4E35058216. 2
E4E35058217. 3
E45350582158. 4

Question Number : 131 Question Id : 64635014810 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Awange the following ISRO space missions in the descending order in the context of
the vear of launch

(2) IRNSS.II
b) GSAT-31
() MARS ORBITER MISSION SPACECRAFT
(d) RESOURCESAT 1A
Options :

Lo (e (d) (b) (2)

2. (d); () (b (=)

3. (& (b () (d)

4. (b (2) (d) (e

Options:
64835058219, 1
E4E35058220. 2



EAE35058221. 3
BAE35058222. 4

Question Number : 131 Question Id : 64635014810 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ggﬁﬁ?ﬁaﬁ%aamﬁwﬁmmﬂaﬁaﬁkﬁﬁxﬁm{ﬂﬁ%ﬂﬁ%;agaﬁamﬁﬁhﬁnﬂfpmfﬁm
(a) 5. 3. UA. 79, UH- 11
() ot 7m0 d-31
(c) W siffdiex fowm Saeee

(@) fEde g

L. (e); (d) (b); (&)

Bt

{d); (c) (b): (2)

(ak (b); (e (d)

iad

4. (b (2) () (e

Options:

64535058219, 1
4835058220 2
4535058221, 2
64535058222, 4

Question Number : 132 Question Id : 64635014811 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the chronology of the following disasters in ascending order :

(2) Uttarakhand floods
(b) Chemobyl incident
{c) Fukushima tragedv
(d) Bhopal gas tragedy
Options :

L (d) (o) (c): (a}

2. (d)dek () (@)

3.0 (b)Y (@) (e (d)

4. (d) (@), () (e)

Options:
64535058223, 1



EAE35058224. 2
B4535058225. 3
BAE35058226. 4

Question Number : 132 Question 1d : 64635014811 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Fmifera smugiell &1 39 HTa-HHER G HH H geraeud oy

(a) TEHE aTg
(b) =TT gue
(c) FruHl ATHa!
(d) o e A
fawe -

Lo {dk () (e @)

2. ([dx{c) (b (a)

3. (b) (@) (o) (d)

4. (dx(®) (@) (0

Options:

64835058223, 1
4535058224, 2
64535058225, o
64535058226, 4

Question Number : 133 Question Id : 64635014812 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Amange the following names of national security advisors of India in ascending order
in terms of their assuming the office :

{a) M. K. Naravanan
by I N. Dixit
{c} Shiv Shankar Menon
{d} Brajesh Mishra
Select the comrect option from those given below -
i (d); (ch. (bX (a)
2 (d); (b): (a), (c)
3. (d) @) (bX ()

4. (o) (d), (b); (=)

Options:



EAE35058227. 1
BAE535058228. 2
B4E535058229. 3
64535058230, 4

Question Number : 133 Question Id : 64635014812 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
NG & 0 TS Ry TS S 399 TR TET S & TR SR w0 J e
B

(a) TUH F TRETE
(b) = 7. Eifgm
() FmEsmaa
(d) s e
e freea o1 909 B

1L (d); (e (b); @)

2. (d) (b) (a) ()

3.0 (d); (a) (b); ()

4. (ck (d), (b): (2)

Options:

64535058227, 1
4835058228, 2
4535058229 2
64535058220, 4

Question Number : 134 Question Id : 64635014813 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Armange the follawing organizations in the descending chronological order :
(a) African Union
{b) BIMSTEC
(e) GCC
(d) SCO
Choose the comrect answer from the codes given below -

1 (d) (b); (ck (a)

b

{d); (c); (b): (a)

(e (d); (b); (a)

Lad

4. (b); (d), (e (a)

Options:



E4E35058231. 1
BA535058232. 2
E4535058233. 3
64535058234, 4

Question Number : 134 Question Id : 64635014813 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frafefie weel #1 sl STomHTHR waftd B
(a) 3BT TY
®) fames
(c) ot .
(d) TH H,
R AT TS T
FE

Lo (d) @) (c) (a)
2. (d) (e (b (a)
5. ek (d) (&) (a)
4. (bX (d) (<) (a)

Options:
4235058231, 1

EAE35058232. 2
E4535058233. 3
E4E535058234. 4

Question Number : 135 Question 1d : 64635014814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Amange the following organizations in the ascending chronological order :
(a} ISRO
(k) DRDO
() NTRO
(d) NRSA
Choose the correet answer from the codes given below !
Lo () () (d) (a)
2. (k) (d); (&) (<)
3. (e) (2 () (d)
4. (b) (@) (d)i (=)

Options:

64535058235, 1
64535058236, 2
64835058227, 2
4535058228 4

Question Number : 135 Question Id : 64635014814 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
4 fog 7o el B AR S st B

(2) FHA
() B am. .
() T & . AL
(d) T 9RTAEG
A feu T HE H WGl ST B g -
1. (&) (e @) (@)
2. (b) d)(a) (&)

(c): (a), (o), (d)

.u.l

4. (bY@, ;@

Options:

64535058235, 1
64535058236, 2
E4E35058227. 2
64535058228, 4

Question Number : 136 Question Id : 64635014815 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Mateh List—I with List—II

List=1 Lise=1I
(Countries) (Year of joining MICR)

(a) Australia i 2016

(b) Brazil i) 1995

(c) France Qi) 1990

(d) India (iv) 1987

Choose the correct option from those given below
Lo (@) (b)=Gi); (e)—Gv); () Gii)
2. (apii) (b (e (dMHiv)
3 (a)d); (o) ()-Gv); ()i
4. (aMii) (b)-Gi); (e)-0v) (1)

Options:

4535058239, 1
64535058240, 2
64535058241, =
64535058242 4

Question Number : 136 Question Id : 64635014815 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

-1 #1 g1 § R @ -
Eg;] @R, &, .J_-n]]{.ﬁmﬁra
& & )
@ SRR G 2016
(b) oS (i) 1995
() wH Gy 1990
d) (iv) 1987
e e A3 96 SR F TS :

L (i) (b)=(iid; (e)=(iv); (d)ii)
2. (2 (bG8 (e-k (div)
3. (@), (b)), (e)={iv); (d)={ii)
4. ()i (b)) ()i, (1)

Options:

64535058239, 1
64535058240, 2
64535058241, =2
4535058242 4



Question Number : 137 Question Id : 64635014816 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Mazch List—I with List—II :

List-I List=II
(Countries) (Regions)
(a) Latvia () Central Asia
() Tajikistan (ii} Baluieregion
() Syria {iii) Caucasusregion
(d) Azerbaijan fiv) Middle-East

Choose the comrect option from those given below
1 (@) (b)) (c)-Giv); (d)~i)
20 (@) (b)) (e)-v): (d)-Gii)
3. (@)= (b)=G), (c)=(ii); (d)={iv)
4. (@)-G); M)G); (-av); (d-0)

Options:

4535058243, 1
64535058244, 2
64535058245 =
64535058246, 4

Question Number : 137 Question Id ; 64635014816 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

-1 1 -1 et =1

g—l ﬁé;}n
(2) e @) e uRrn
() e (i) wifees 4
(c) wifem (i) FiEwE 47
(d) 3rREwH (iv) =a-gd
feum RemAd vl s a aga &1

L (@) (b6 (ed=0v); (d-)
2. (a)-Gi); (o)) (e)-Gv); (d)Gii)
3. (a)-Gi); (b)) (e)-(iii), (d)~{iv)
4. (@) ()=, (e)-(iv); (d-i)

Options:

4835058243, 1
64535058244, 2
64535058245, o



EAE35058246. 4

Question Number : 138 Question Id : 64635014817 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List=I with List=II :

List-1 List-I1
(Books) {Authaors)
{2} Chain of Custody (i) Sana Hashmi
by Kavgil : Twning the Tide {ii) C. Chrstine Fair

(c) Fighring 1o the End : Pakistan Army's {iiiy Mehinder Puri
Way of War

(d) China’s Approach Towards Territorial {iv) Anita Navar
Dispures

Choose the correct option from those given below -
L (al=(i); (b=iv); ()= ()it}
2. (a(v): (b)=(ii); (=), (d)=i)

(a1 (b)=(ii); (c)-Gi); (d)=iv)

4 (i) (b)=Gi); (e)=(1): (d)-(v)

Lt

Options:

64535058247, 1
E4E35058248. 2
4535058249 2
64535058250, 4

Question Number : 138 Question Id : 64635014817 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A1 =TI 8 gt &1

-1 -1
(g% (P
{a) @7 HF BT (i) ¥ e
) FRINT TR @) @t
(c) BIEIATE 20T Gl oFiT 3 ofF ar (i) e @
(d) B gHiT cosw ST [Eegew iv) ifra AR
AR e = o s P e T

Lo (i) (o)-(iv); (e)0), (d)iid)
2 (ah(iv); (b)-id); (e)i); (d)-{i)
3. (a) (o=, (e)—(i: (d)-(iv)
4. (i (b)), (- (d)v)

Options:
64535058247, 1
64535058248, 2



E4E35058249. 3
E4535058250. 4

Question Number : 139 Question Id : 64635014818 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match List=I with List=II :

List-I List—II
(Terronst incidents) (Date of happening)
(2) Parliament incident (i) 18 September, 2016
(b) U incident (i) 26 November, 2008
{c) Pathankot incident (iii} 13 December, 2001
(d) Mumbai incident (iv) 2 January, 2016

Choose the comrect option from those given below :
1 ) (o) (G (i)
20 (ap(ii); (b)=(ivy; (e)-i); (d)-i)
3. ()i (bEY, (o)=iv); (d)i)
4 (fakrGid; (b= (-0 (d-v)
Options:
E4E2E055251. 1
CAEZE05E252. 2

64535058253, 3
E4535058254. 4

Question Number : 139 Question Id : 64635014818 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-1 51 -1 § Rt ¢

qai-1 -11
[ SfiepaTal g1 (EHa)] (gied 51 & fgie)
(a) WHE BT i 18 fydaw, 2016
() T g (i) 26 FowER, 2008
(¢) TBTHEIE B! geAl (i) 13 fewmam, 2001
(d) #HEEFEE (iv) 29, 2016
Ermismdaadi o gga o

L (@il (b)=Gv); (e)={(i); (d)-{ii)
2. faii) (b)iv): (e (d)Gi)
(@=(iii); (b)) (e)=(iv); (d)-(ii)
4 () (b)), (), (d)-0)

L

Options:



E4E35058251. 1
64535058252, 2
E4535058253. 3
64535058254, 4

Question Number : 140 Question Id : 64635014819 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Martch List—TI with List—II -

List—I List-I1
(Military Exercizes) (Parmers)
(a) RedFlag iy NATO
(b} PRABALDOSTYK (i) India-TJSA
(c) Ulchi-Freedom Guardian (i) South Korea-UUSA
(d} Anakonds (iv) India-Kazakhstan

Choose the correct option from those given below ¢

1, {aiik (v (e, (1)

]

{al=(i); (b)=(iii}; (e)={iv); ()i}

(@) (b)-0v); (e (dHu)

s

4. (apLivy (b)) (e)Lid);, (d))
Options:
64535058255, 1
64535058256, 2
64535058257, 3
64535058258, 4

Question Number : 140 Question Id : 64635014819 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T ghon d gite =t

-1 efl-1n
@ anarm (FTEER)
(&) YEwW @ @
(b) V&Y IS (i) HRG-HgE T Rl
(c) Gl pigAMRAGT (i) SR ST Hgea e A
(d) TS {iv) HRGd-SEIEHEE
fenmm e A & ol S amE Y

Lo (i) (v (o)), (d)i)
2. (a)i); (b)-Gid); (e)-(v); (d)ii)
3. (au) (b-Gvk; () (d-G)
4. (aHiv)k ()G (i) (d)i)

Options:

64835058255, 1
4535058256, 2
64535058257, o
64535058258, 4

Sub-Section Number: 2
Sub-Section Id: 646350701
Question Shuffling Allowed : Yes

Question Id : 64635014820 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
uestion Label | Comprehension

Direction: Read the passage given Tbelow and answer the questions
(0. Nos. 141 to 143) that are based on vour understanding of it ;

Civil war differs radically from both intemational war and communal violence. Unlike
international war, it 15 fought outside any structure of rules and entirelv within the temitorv of
the society. Unlike communal violence it implies a rebel organization equipped with
armaments and staffed with full-time recruits. Such rebel armies usually have little option bur
to live off the land. These features typically escalate the social costs of civil war above the
costs of either intemational war or communal viclence. For example, the same conflict
between Entrea and Ethiopia generated both a2 cwvil war and, following Entrean
independence, an international war. As a civil war the conflict lasted for 30 vears and was
ended only by military vietory. As an intemational war the confliet was subject to the full
panoply of intemational mediation and ended swiftly in a negotiated settlement. To analyse
civil war we need to know what we mean by it. We adopt a precise but conventional
definition : civil war occurs when an identifiable rebel organization challenges the
government military and the resulting violence results in more than 1,000 combat-related
deaths, with at least 5 percent on each side. There are many other forms of group violence,
such as protests, mots, and programs, but we do not consider them here.

The perpetrators of civil war usuallv adopt the rhetoric that the war is a necessary catalvst for
social progress. Oceasionally this is right, but more typically war is an economic and social
disaster for the affected country. Therefore, for those whe care about development eivil war
is 2 major problem.



Sub questions

Question Number : 141 Question Id : 64635014821 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Civil war differs radically from intemmational war as

[

it is fought ourside any structure of rules within the temritory of the society

(]

it is fought within the structure of rules outside the temritory of the society

sk

it implies a rebel organization is equipped with armaments

=

it is staffed with full-time recruits

Options:

64535058259, 1
64535058260, 2
E4E35058261. 2
4535058262, 4

Question Number : 142 Question Id : 64635014822 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Why does communal violence differ radically from civil war?

1. Because it implies a rebel organization is equipped with armaments

=)

Because it is staffed with full-time recruits
3.  Becanse thev are not staffed with full-time recruits

4.  Because thev have little option but to live off the land
Options:
E4E35058263. 1
EAE35058264. 2
EAE35058265. 3
EAE35058266. 4

Question Number : 143 Question Id : 64635014823 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which feature typically escalates the social cost of civil war?
1 It has structure of rules and is not equipped with armaments
2. Itis mot staffed with full-time recruits
3. Ithas no structure of rules, equipped with armaments with full-time recruits

4.  Itis not fought entirely within the territory of the sociery
Options:
E4E35058267. 1
64535058268, 2
64835053269 2
64535058270 4



Question Number : 144 Question Id : 64635014824 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Civil war occurs when an identifiable rebel organization challenges the government

1. politicallv

2. socally

3. economically

4. milirarly
Options:

E4E35058271. 1
EAE35058272. 2
EAE35058273. 3
EAE535058274. 4

Question Number : 145 Question 1d : 64635014825 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
For those who care about development, eivil war is

1. nota problam
2 2 major problem

a minor problem

a

-~

a complex problem

Options:

64535058275, 1
64535058276, 2
E4E35058277. 2
64535058275, 4

Question Id : 64635014820 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehension



g . feRuuofiESi o W YT AN F AUR W AN E, 141 § 14575 & I E -

TE 9, g 9% AR st e St 4 e w0 @ R R wif oz ¥ Rk, 78
ﬁ%mﬁm&hwﬁ&m%tﬂmmwtlmﬂw%ﬁﬂﬁ@w
¥ e Wea @1 gu@ 8 9 U S @ O 8 8 S 59 BHl QUisIe TTee B 81 59
R w1 AR Fl & ghy I T 8 A0 89 9 3Y T & 0l ST 9 T8 BE
ferdansit & srdiyto gg o wweias e @t arfes orme &t goen | e g% @t amfes arma
H gf it §1 oo, gifem s suiftm & dw o veR & Hed 3 1E TE g iR

aﬁﬁmmmﬁmﬁﬁugaaﬁmﬁﬁmw?ga#mﬂaamsﬂﬁaﬁmam
W o gm0 T g UF e 0% % w0 | g e St nuem § e
syl o7 oY ATt & mem & SeE & A ae @ Tew g B UE 0% & Reden & R o
AH A ¢ fo g0 T80 7 oy (e 21 89 Ue geap. Tife TAiee QiHTST 30T &
ﬁ%ﬁm%,mwmﬁﬁﬁmmw#rmmtmwm
& ﬂlmuﬁmmﬁﬁﬁﬁq&ﬁ?ﬁawmwﬂmsmmﬁﬁﬁél
Tp i & ore w1 & F9-f0, 7 ok weEr, A 59 98 9 W e T8 el

U & Fai-4al GE EY § G0 $34 6 (6 g S Wi & [0 (6 SeWe Jeis
| TE Tgi-a] WEl B T «fte mpeq 0w @ S g wifte-gm & fim v s o
#mtfﬁa;ﬁnmfrm%nmm.ﬁ#mﬂmmﬁmﬂmﬁraﬂf@ﬂqsgaﬁ&@
T 2

Sub questions

Question Number : 141 Question Id : 64635014821 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TEOE dePn g S wu A fim & =ifs

1. % 99E &1 Y4 & g o = e J de s e a9 @ 8
2. UE R S Y- v el @ wEe S i g o g

3. we i e atdded

4. TE S % Ed el e e ¥

Options:

4535058259, 1
64535058260 2
64535058261, =
64535058262, 4

Question Number : 142 Question Id : 64635014822 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
et i, TE g & = fim 7

1. wiFmwhEddeiegEes Agearddtaga?
2. wifes sEE Sl s w0 F gfefie e g E

3. wifs g S F w9 A griwie e TEEn §

4. IS T TRy o9 49 8 g TR S T S8 9 A6 B

Options:

E4E35058263. 1
64535058264, 2
64535058265, o
64535058266, 4



Question Number : 143 Question Id : 64635014823 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
H-4t A & 9 € 77 g F amtae o 3 giE Sl 87
1. g Pt 2 deaen ot & iR 0w g vl § e el B
2. o S & w0 piefas T TE Be
3.0 T ot i wEA e g, e QUieies T iR 36 el 9 @
GEE]
4. T T B YT F Qiadn Hiad T8 781 wa e
Options:
64535058267, 1
64535058268, 2

64535058269, 3
EAE35058270. 4

Question Number : 144 Question Id : 64635014824 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e T% T8 311 2, 98 Ue 1hE s 9 fe w0 H wen #1 3H a1 87

1. wosifoe

3. oiffw

4. AHwwed
Options:

E4E35058271. 1
BAE35058272. 2
64535058273, 3
64535058274, 4

Question Number : 145 Question Id : 64635014825 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
@ o e S rarsa l st oz
1. UTsEREIAg e
2. UTHEUEETEE
3. UE AR S
4 Um wieo o

Options:

64835058275, 1
E4E3E058276. 2
64535058277, 5
64535058278, 4



Sub-Section Number: 3
Sub-Section I1d: 646350702
Question Shuffling Allowed : Yes

Question Id : 64635014826 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehension

Direction : Read the passage given below and answer the questions (. Nos. 146 to 130)
that are based on your understanding of it -

In the past two decades, India has undergone dramatic transformations in the economic,
social and political spheres. The countrv has radicallv transformed its economy and is now
projected to be on course to become the third largest economy in the world by 2030. Besides
this spectacular economic grewth, Indian demoeracy has steadily consclidared and expanded
its scope in the post-independence era. The recent successes of civil society groups in
mobilising public support for various causes are testimony to the power and resilience of
demaocratic India's ability to negotiate conflicts within the society through peaceful methods,
However, despite its numerous successes, India faces encrmous challenges at the domestic,
regional and global levels.

India's economic growth has not been marched by the evolution of its govemnanee structures
and institutionzl competence resulting in higher expectations of political institutions to bridge
the gap between promise and performance. India’s growth story has not vet translated into the
economic democracy envisioned by the countrv’s leaders. This may cause greater social and
political stresses than those that Indiz has had to comtend with during the first six decades
after its independence.

Sub questions

Question Number : 146 Question Id : 64635014827 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

By the vear 2030 Indian economy is projected to become the
1.  third largest in the world

2. second largest in the world

3. largest in the word

4.  fourthlargest in the world
Options:
645350582749, 1
E4B25058280. 2
E4EZ5058281. 3
EAE35058282. 4

Question Number : 147 Question Id : 64635014828 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Testimony to the power and resilience of democraric India’s ability o negotiate
conflicts within the society through peaceful methods is

1.  Tecent success of human society groups in mobilising public support
2. past success of civil society groups in mobilising public suppon

3. recent success of civil society groups in mebilising public suppont
4.  past success of religious society groups in mobilising public support

Options:
E4E2E055283. 1



EAE35058284. 2
E4535058285. 3
EAE535058286. 4

Question Number : 148 Question 1d : 64635014829 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

India faces enormous challenges in economic, social and political spheres at
1. the domesticlevels

2. theregional levels

3.  the domestic and regional levels

4.  the domestic, regional and global levels
Options:
64535058287, 1
64835058288, 2

64535058289, 3
E4E35058230. 4

Question Number : 149 Question Id : 64635014830 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Higher expectations of India’s political institutions to bridge the gap between promise
and performance was due to

1. mismatch berween economic growth and evolution ofits govemance
structure

[

match between economic growth and evolution of its govemance

L

mismatch between economic growth, evelution of its govemanee structure
and imstitutional competence

4. march between economic growth, evolution of its govemance structure and
instituticnal competance

Options:

64535058291, 1
64535058292, 2
64835058292 2
64535058294, 4

Question Number : 150 Question Id : 64635014831 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Greater social and political stresses in present dav India may be caused due to
1. failure to translate into economic democracy
2. successful translation into economic democracy
3. failure totranslare into socialist economy
4 successful translation into mix economy

Options:
64535058295, 1



EAE350582396. 2
E4535058257. 3
E4E535058238. 4

Question Id : 64635014826 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension

Ay . AR S 92 AR AT TR F YRR 146 T 150FF F e

o 51 awl & wRE & onfils, omifas o Tadifas &30 § Fesn ufmds 9 g Sm a)
HejamErRa ® S U gU ¥ SN Windg sismaen 2030 7% Ry #9 d witiie e
sefarTen &4 B SN HUE 21 59 UMER Hide Sgfd & sfufen, undin dieas e e
B & SN 0T & 915 & S0 | gus enaga o G g 21 fifls st | fefae S
mﬁﬁﬁmmmqeﬁaﬁmmﬁmmﬁmmﬁﬂmmﬂﬂmaw

perta wiferqul ardies! 3 e & e & s dudl & o d ol 2 el @1 o ot areaed
meﬁﬁq' Wi T, et o s =l = softs it e st 2

Y @ il wefE aue! wren Sramst ot srie ammed & wufiers & wy gu 5 e
Ui 2 foras ufmmeaesy argg i Frares & i siar o vea | Teeiias dens § o sand
Bl HRE F HofE gl g ol 9% i A | waiaie 76 8 o & fawst ofeem
2o F Jmalt 3 1 o 599 v F 9T S W 9% o] & o w0 el 2t geen o afie
wteE AR TodifaE o9 9097 B 994 &)

Sub questions

Question Number : 146 Question Id : 64635014827 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ad 2030 7@ Hdta srdorawn S @99 BT SR HTE 87

1. oy &t fiedt wedt a gt sfemamn
2. o &t gud Ied aE endomamn
3. oy &1 wad ot anforo=n

4. foy 3 o wad o snfammmn

Options:

64535058279, 1
64535058280, 2
64835058281, 2
645350582582, 4

Question Number : 147 Question Id : 64635014828 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fifoqet aiiet & mem & W § o Hudl & AR F 9l 31 GeaiEe uea S G #)
Hida 3 THEH &1 W B

1. oF-9HUF g A A SAE 9l 1 5§ $1 SEe

2. wE-wE e | e drersd wag! @ e s

3. wA-gad ger # R dred wadt &t g f 9 wwe

4. wE-wE e d aftfs v g & e s
Options:

B4535058283. 1
64535058284, 2



EAE35058285. 3
BAE35058286. 4

Question Number : 148 Question Id : 64635014829 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
uiRe fife, arfes o tedifos a A e s amfis it s o s w2

1. TWEER
2. &dfawR
3. o e g 'R

4. aefta ol v

Options:

64535058287, 1
64535058288, 2
64835058289, 2
4535058290, 4

Question Number : 149 Question Id : 64635014830 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

EﬁikigfﬂmiﬂﬁiéhlHﬂ?aﬁtﬂﬁﬁiﬁmfﬁﬁaﬂﬂﬂﬁ1ﬂﬁﬁHIﬁFﬁﬁﬁ?ﬁEﬂﬂFﬁﬂﬁl
3 .

1. it WghE R IO ueR TETH & walie & a9 st

2. il Waf o Sue! me gl & iteTa & g 5

3. oite WafE Sue e & weiders R wefae e & € erdnfa

4. fifs dofE o= o Sl & enlters ok Senfe e S e T

Options:
42350582491, 1

EAE350582392. 2
E4E35058293. 3
E4535058254. 4

Question Number : 150 Question Id : 64635014831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TAHA YA § 5w SR § it qrfee AR TeHiThe a97d 397 5 5ed a7
1. anfife diswds # woiafm &0 A e
2. nftfe dieda & wuiafa #3 § g6
3. EEane seraen # wuiivg S | AT
4. Tofim srdomaen § woiafa &0 @ e
Options:
64635058295, 1
64635058236, 2

B4E535058257. 3
64535058238, 4



